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Due to the need for industrial process to be operated efficiently, there is a 

development in advanced process control and the one which is widely used is Model 

Predictive Controller (MPC). One problem that always be with the process control is 

time delay, therefore in this research, we improved the independent time delay in the 

quadruple tanks system (QTS) to study the effect of the delay on performance of the 

controller. In our experiment, we controlled the liquid level in QTS and compared the 

result of the system which uses MPC with the one using PID controller. The results 

show that MPC has better performance than PID controller based on considering the 

integral of absolute error (IAE). 
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�����  1 

����	 

1.1 ��	
����
	�����	
��	����������	 

�������	
���
���������������
	�������	����������
����� !"����� #
$���$
�%����
�#���������#�&'(�)�$� *����
 �����%�&��+��
�������� ���,��*����
 �����������-
) ��'�!����������#�& ���" �.
������/���0�&���) ������
	�������	����������
$� �
���
'"����.
���	�������*���'�
	0
	0
 ����)�$�����
�������	����������1�'
�%
�23/�!��
�" �
� !"����� �4"� ����+�'�!)�  �������	������%5& �������&!�*����
 ��
	             
'�!�6 ��)
� 0�&����.7��"� �-./(��) �'�!)�  ��
$���'"���!
 ���
	��!
� �-./(��) �               
'�!�6 ��)
�  ��#
$������	������
���"�� 8�!#
&�����������		�		 ��%�#-� �#3%�#.��!�
� 
(Multiple Input- Multiple Output, MIMO) #+��.
��"�"�!�
�#�&��#+����*�	*���
�!��2��		�
$����� 
�%5& �.
��
'���,��) ����*�	*������
 �����
��
$� �%5& �.
���*�	*�����	����������� !"��
�����'�#2�/�% ����+������
 �%
G���
�*�	*���.
��'���,��'(��%5& '����,*�	*���
����
���	������.
�)
�'("*"���6�.��! (Set point) ��
 !"�������7���"�!+� 

���J *.�.1939 ��
������+��
�*�	*���		%�� �� (PID Controller) ���4
��
���	����� ��'�.���� 8�!�4
�����	�����#�&���
��-������		 ��%�#-� �#3%�#�
����!� 
(Single Input-Single Output, SISO) 0�&��.
'���,�����*�	*��#�&�� ��"�
�*�	*���		%�� ��          
�7��)���+��
�.��! !"�� �4"� �
�*�	*���		%�� ����"'����,�+����4
�����*�	*����		#�&��                  
�
����.��!�
� (Multivariable Systems) ��
 �
��
$� ��������%
G���
�*�	*��0�&��.
'���,�� 
���*�	*��#�&�������*�	*�����	�����#�&��*���'�
	0
	0
 ����Y ������	��#�&�
����           
���1�'
�%
�23�" �
���
 �" ����������%
G������+��#*8�8�!����*�	*�����	�����)
$�'(�       
���4
  

�
�*�	*��0�&��4
�		�+�� ������#+���! (Model Predictive Controller , MPC) 
�����
�*�	*�����	�����)
$�'(�#�&���������/#.��&� 8�!�����#*��*#�& ��
!�		�+�� ����
���!���3�4
���  �����03�%5& *+���-*"��
������
	#�&�.���'� ����+����4
*�	*���
����
*�	*���.
 !("#�&*"���6�.��!#�&�
 ���� 8�!�
�*�	*��0�&��4
�		�+�� ������#+���!��$��
*���'����, ������
�����
	)
 �+��
��"��Y ) ���		 �� ����
�����
	��		#�&��                  
.��!�
������
 �
��
$� ���������+������!���3�4
�� ��'�.���� !"���%�".��! 8�!'"���.\"             
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���4
�� ��'�.�����̂8���*�� � �����
$�!
�������+����4
����� ��'�.���� �.������*��         
 ���
�! 

���	�����#�&��"����)
���
�'"���.\"�������	�����#�&��"*������.�"�� 
(Delay time) 8�!����+�.���.
�"�#
�#�#�&�
����)��)
����������&!����� �������������&!�����
)�$��
	�
����)�  ��4"��
� 0�&�)
 �+�.����$��"�����'� ����#����-� 8�!�_%�� !"��!�&���-�#�&��
���)�'"�.�5 ,"�!8 ������-��Y ���#�&.��&���!
� ��#�&.��&�0�&��
 ��4
���������)�!
�!                    
�������&!�����) ������-�
���"������"����1��)�$�#���
���
����)�  � �����#
&������-
�
���"�� �*�5& ���,��#��)�  � 8�!#
&�������.�"��*5  ����#�&�4
�����)�'"�.�5 ,"�!8 �
�����- .�5 )
 �(���!
��������� 	'� �) ����	����� 

��������
!��$�������'���,��) ��
�*�	*��0�&��4
�		�+�� ������#+���!         
8�!����!	�#�!	�
	�
�*�	*���		%�� �� 8�!��"���
�����������#	) �����.�"��#�&���" 
'���,��) ��
�*�	*�� ��		#�&�4
������������$ *5  4��#�� ���		'�&,
� 0�&�������		#�&��            
*���0
	0
 �������1�'
�%
�23) ��
����/�!�� 8�!������+�� �����.�"���
$����4

�+�.������.�"��'
\\�-#�&'"�����
�*�	*����!
����3�*�	*�� ��#�&��
�����������                   
��'����,�+����4
�����%
G��*����(
�
�����*�	*�����	������" �� 

1.2 ������ ����!���"	 �#$�% 

1) �%5& �����������*���.3��) �����.�"��#�&���" '���,��) ��
�*�	*��0�&��4

�		�+�� ������#+���!  

2) �%5& ����!	�#�!	'���,��) ��
�*�	*��0�&��4
�		�+�� ������#+���! �
	             
�
�*�	*���		%�� �� �����*�	*��4��#�� �) ���		'�&,
�0�&�������.�"��)����"��Y �
� 

1.3 ���������"	 �#$�% 

1) �����������!���3�4
�
�*�	*��0�&��4
�		�+�� ������#+���! ����
�*�	*��
�		%�� ������		���#�� ���		'�&,
�0�&�������.�"��)����"��Y �
� 

2) �
�*�	*��0�&��4
�		�+�� ������#+���! ����
�*�	*���		%�� ��%
G��        
8�!�4
8��������#��� (MATLAB) 
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3) ���!���3�4
�
�*�	*��#�&���������		���#�� ���		'�&,
� 

1.4 � �(%)�!����	*�+	$�,*- �� 

*���'
�%
�23) �'���,�����*�	*���
	)���) �����.�"��) ��
�*�	*��       
0�&��4
�		�+�� ������#+���!  

1.5 �#/�*�	��#�"	 �#$�% 

1) �����#d�e����������
!���&!��
	�
�*�	*��0�&��4
�		�+�� ������#+���!  

2) ��������	�����) ���		'�&,
� 

3) ���������4
8��������#��� (MATLAB) �������4
 ����-3�45& ��" �"��Y 

4) �)�!�8��������
�*�	*��0�&��4
�		�+�� ������#+���! ����
�*�	*���		
%�� �� ����45& ��" �
�*�	*���
	��		'�&,
� 

5) #�' 	�
�*�	*��0�&��4
�		�+�� ������#+���! ����
�*�	*���		%�� �� 
8�!��
	����.�"�����)���#�&����� 

6) ���*���.3�������!	�#�!	'���,��) ��
�*�	*�� 

7) '���������
�#+���!�����#!���%�23 
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�����  2 

��	
��
���������
���� 

�������	
��
����������	���
��� ����������
���� !���"#$�%�&#$��'��(��)��*)+�
��
����������'�$���	�� ,-�#� �'���
������	����"���"������������� 3 �'/"�� %/� �����	����"
���"������������%��%0 1�"��2����	$��������'�$���������	�� �����	����"���"����������'
�����'
'
��#�"��� ��
�����	����"���"��������������
������ 

2.1 ��	
��
���������
�����
��

�
����������������� ���	��!���	�� 

	����''��'� 3��
�'
��%��%0 1�"��2����	$��������'�$���� �3/��4��	��
'
��%��%0 �������� �� (Optimal Control ) ��
 ���'3�B���'/"�� � 	��'
��"����C %.(.1980 
Cutler ��
%K
 L-��$�������'������%��%0 1�"��2����	$��������'�$���� ��2������                 
��'%��%0 ��
����'������-�������'
��M���'��� (Catalytic Cracking Unit) ,-�3�B��                   
���%��%0 ���L-�� ��� �'��1S (Dynamic Matrix Control) ����	����'�$����)K
���L-�� ��
����'
�����' �#'�������� �'��1S ��
�2���%��%���%K��(�#�'S����'%$���K��%
�                
��'����"��������������'�'����"�$�������-%�� W�-3��-������"#0- �$��������X&��'
��               
��'%��%0 ������������' 1�"� �W��
����Y����'
�� 1�"�L 
#� �'�����X&����'%��%0 -���
���%��%0 ���3�L�-�L-� [1] 

Prett  ��
 Gillette [2] ���C %.(.1980 L-��'
�0��S�2����%��%0 ���L-�� ��
� �'��1S����%'/"���M��'KS_�!��-%
�
L�����%'����� �����'�`� �����'%��%0 ���L-�� ��
� �'��1S�2����	$���������'���#������#��a�����2���#�� ,-�%
�����S30�����'
�����'                
�����%��!��$���-,-�%�� 3���� ��"	
�������S30�����'
�����'��������%
���b�� ����"#0-
��
���"	
����L�L-� ��
%
����30���"�� �
# #� �'�%$���KL-�	��%$���������'��%
��$����#��
��"������"#0- 1�"�������'-����
��L-��$�L��'
�0��S�2�����'%��%0 �0K�Y! ���������� ,��
 
��
�'��MW��
� �# ''��
����'%��%0 -���
���'%��%0 ���3�L�-�`'' -� ,-�#
�����        
��'�����L 1S������	$���-�2���%��%��',�'��' �2���#�� (Linear Programming , LP) 

��	��
��,-�#'0�L-��
���'%��%0 1�"��2����	$��������'�$����'0
��'� ���!
��
�����'�`� , �-�e��'�#�����
L-�� ��� �'��1S 1�"�����3/��4������'��������'%��%0           
���0�#���''  �
� �L-� ���'3�B�������'�`� ������%��%0 ���L-�� ��� �'��1S ��'!���� 
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%��-'����,�'��'  (Quadratic Program, QP) �'����
� %��-'����L-�� ��� �'��1S 
(Quadratic Dynamic Matrix Control, QDMC) ,-�������	$���-�
��� 	
�'��M��
��2�-�	�
�������'�`� #$��'����'%��%0  1�"�'!������ /�������'%��%0 ���L-�� ��� �'��1S ����
��
����3�����'%$���K%
����30���"�� �
# 	
����%
�%$�������%��-'����,�'��'  

Clark ��
 Scattolini [3] ���C 1991 L-�3�B�������'� �̀ ��'1�"��2����	$������
��'�$��������3/��4�� ,-��	����L'1S3'�-�%��_ (Generize Predictive) ���������'�`� ��"L-�'��
��'�� '����
�� �� ��/"��	��#� �'�%��%0 '
��L-�-� ��
 �%�� ����� ��������-                 
��'%$���KW����#��������'%��%0  ��
#� �'��2�����X&����'%��%0 �'
�����'�
���
��"L 
 ��_#�"$�#0- (non-minimum phase) 

Alex Zheng [4] ���C 1997 L-��#-������a��
��#���'Y�3���'
����'%��%0 
1�"��2����	$��������'�$������" �������#� �'�'���'
���L-�,-���`��
����$�������'��'W��
���� ,-���''� #�������'�`� ��'%��%0 1�"��2����	$��������'�$����%/� Infinite Horizon 
��
��'%��%0 ��" �������#0-���� 3'�� �����''���'
����#���'Y�3 1�"���`��
����$�������'��'W��
������	 ��'
,�2�S����'���%'�
�S%0K# �����#���'Y�3�����'%��%0 1�"��2����	$����                
����'�$����#$��'��'
����"��'W���� ���� L-�-��������
����'
���2���#����"L 
��
��� 

('��0`  [5] ���C  1998 L-��'
�0��S�2���'%��%0 ���1�"��2����	$����                        
����'�$������ MATLAB #$��'��%��%0 �0K�Y! �����%'/"���M��'KS�% �������1S��" ��M���'���
%��%�� '��� �������'K����� ��
���'K���"���-%�� W�-3��-���%
�%���"3�'� ����'S ��
���
�'
�����' L-���
 %
�#� �'
#��`�w��'�
����%�� '��� %
� ��'� ���%'/"���M��'KS ���'�                    
��'���-�M���'��� ��
%
�%�� '��������'���-�M���'��� ,-���'��������# ''��
���'
��
%��%0 1�"��2����	$��������'�$�������'
��%��%0 �	����'��, �-� ,-� �%�� ��_x����'S
�'
 �K%
�%�� '�����"���-���%'/"���M��'KS������'
��%��%0 ����#�� W���'��	���'��M�
�             
��'%��%0 �0K�Y! ����%'/"���M��'KS '
��%��%0 1�"��2����	$��������'�$����#� �'�
%��%0 L-�-��������
����'
��%��%0 �	����'��, �-�Y�������'�'��	!���"-� 

Loeblien ��
 Perkin [6] ���C 1999 L-�(��)���'��������,%'�#'������ 
Integrated Online Process Optimization ��
 Regulatory Control System Based                        
�2� � �(')4(�#�'S �� �%'�
�S�����
 ��_�!��-�%�
L������,'������|#  1�" � ��'
��                                
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 �%�� L 
��
������3�'� ����'S��
 ������''���� �2
� %0KY�3������'�#���b������ ��
 
%�� ������'������-������� ,-��$���-��� Regulatory Control System Based ���� MPC 

�'�&&�3' '��#��- [7] ���C 1999 �������	��L-��$��#����'�'
�0��S�2�                
��'%��%0 1�"��2����	$��������'�$���� #$��'����'%��%0 �0K�Y! ���
%�� ��� ������                  
�%'/"���M��'KS�% �����������
���/"����" ��M���'���%��%�� '������-�����"����W������L-�                
1�"��#-�3*���'' ��" �%�� L 
�����2���#��#!� ,-������	��-����
��L-��������%'/"��%��%0 1�"��2�
���	$��������'�$���� ��"�2�'
� ���%�� ��_x����'S 1�"�	��W���'	$����'
��%��%0 �#-�
�����a��
��%'/"��%��%0 1�"��2����	$��������'�$������"�2�'
� ���%�� ��_x����'S���# ''��

��
%�� �������"-���
��%'/"��%��%0 ���3�L�-�����'%��%0 �0K�Y! ���
%�� ��� ������
�%'/"���M��'KS�% �����������
���/"�� 

�`�� �����0���' [8] ���C 2002 �������	��L-��$���'#'���20-�-�����
               
���%��%0 1�"��2����	$��������'�$����#$��'��%��%0 '
-�������������}��"�1�"� ���2�����             
���3����"�2/"� '
��
����
���M�������'�3/"�����0�'
#�%S�$������'����"������������'���'L��
����L�L-���
��'��'/"� ,-�L-��$���'�-#��������'�������'
�� ��
�$���'%��%0 -�����`���'
�'��%
�3�'� ����'S�� ���� ��
��'�$���-����'!��'�� ��������$���'�-#��%�� ��������                
���%��%0 ,-�����"��2
����'%��%0 �������
��	��	0-��"�$���'�����	$���� 1�"�#'0�L-��
�                
��'%��%0 ������%��%0 1�"��2����	$��������'�$����#� �'��$����L-�����L��� ��������"
������'L-�������
��-� ��
�$���'��'��������������%��%0 ���3���
3�L� 

Biao Huang ��
%K
 [9] ���C 2003 L-��#������������'�'����� !��
��
����''
�0��
�'�	#��������	$���� 1�"��'��M�
����	$������"�$����%�� W�-3��-	��          
��'�$���� multistep ������#0- #� �'�'
�0�'/��'�	#��,-���'�'����� !� ,-��2���`���'
�'����� !���"��
����
�������2���`���'�$����%�� W�-3��-������ !���"�'������ �����'�`�               
��"3�B�����L-��!��/����%�� �!�����W
����'	$����L-�-�3���������'�2�����0�#���''  

Ramaswamy ��
%K
 [10] ���C 2005 ��
���
���"W
�� ���'%��%0                          
�%'/"���M��'KS���2��Y�3����#�"���"#$�%�& �� ��/"��	���X&������'%��%0 3*���'' %�� L 
���� 
�2���#����
����"����'
��2��Y�3 ��'%��%0 1�"��2����	$��������'�$����	���!��$� ��2���                
��'%��%0 ���� ������������
���/"����"L 
�����2���#���3/"�������#Y��
��"�1�"�L 
 �%�� �#���'
1�"�����	0-�1a�3���S��"������' �������	��L-�(��)�W������'��'W�� predictor horizon 1�"�����
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3�'� ����'S��"#$�%�&����'�'����
����%��%0 1�"��2����	$��������'�$�����K
��" predictor 
horizon �3�" ���� �#������a	
���L�	��	��#Y��
��"����-'
�
����-��-!- (attractor) 
���	�����%�� #� 3��`S'
��
����'����"�������'�'����
3*���'' ���'
��#$��'��#Y��

�'�" �����"�
����� 	��W�%�� L 
�����2���#����"���"���������3��������%'/"���M��'KS2��Y�3����!�
���%'�
�S-��� 1�"�W���'(��)�3��
��%'/"���M��'KS���2��Y�3��"%��%0 #� �'��#-�3*���'' 
L 
�2���#��L-��
����
� ���
��'%��%0 ��"��������
��-���	����'
#��`�Y�3��"�"$� �� 

Adrian ��
 William [11] ���C 2005 L-��2����%��%0 �b���������������'�3/"�
�-��'��'W������'L����
�'�-��������" ���"���������#����
��������0�#���''              
��'W�����$� ���3/"���'�'�,Y% �$����L-�����M�������'3'�� ��������3/"��3�" W�W����'
�����'
,-�L 
�-%0KY�3���W���Y�K�S 1�"���-	$���-����'
�0��������'3�	�'K�3/��4������'������
���%��%0 ��/"��	�����'���'�3�" W�W���������(������'
�0������M�������'����������-	$���-���
3������'
�0�� ��
��'�2���'%��%0 1�"��2����	$��������'�$����recentred barrier _X��S2��            
���������$����L-�'��W���3`S��"-� 

Bingfeng ��
 Yash [12] ���C 2008 ��
���
��'
�����'����% �#
�� ��                   
L 
�����2���#�� ��
�3'�
%�� �
�� �����'�`� ��'%��%0 �2���#��	���!��2�#$��'��%��%0 
�'
�����'��"L 
�����2���#�� ����'(��)����3�	�'K��2������'�`� %��%0 ���L-�� ��� �'��1S
��
�����'�`� %��%0 1�"��2����	$��������'�$������
���
�� #$��'����'%��%0 �'
�����' 
neutralization %�� L 
�����2���#���!�	�-��',-���
�3/����"�M�������'�������3/����"�
����
#���
'!������'%��%0  ���K
��"�'
�����'����	��3/����"�
�����"�L����3/����"�
���/"� ��'���L���
���
��
#$��'�������'�`� %��%0 1�"��2����	$��������'�$���� 	���!��$��#���3/"�	�-��'#���'!����                  
��'%��%0  W������'	$������
��'�-����#-������a��
���'���L�#� �'��$����L-�                     
��'�'���'0���"#$�%�&����'%��%0 �'
�����'��"L 
�����2���#�� 

Adetola ��
 Guay [13] ���C 2010 L-��$��#����������'���������%��%0         
��"'�  Real-Time Optimization (RTO) ��
1�"��2����	$��������'�$���� #$��'����'%��%0 
'
��L 
�2���#��Y�����������L 
��
��� ,-�#  ���
�_X��S2������(')4(�#�'S����_X��S2�����
#Y��
'
��������,-��$���-3�'� ����'S	��3�'� ����'SL 
�'��%
���
������"����
����� 
�K
��"����0�'
#�%S��'���������%��%0 �3/"�'
�0%
������'3'�� ���%��%0 '
�����L-�          
	0-�M�������'��"-���"#0-,-��2���`���'��(��20-3�'� ����'S��"�2��'
 �K%
��'
	$��� 
��
           



 
 
8 

���%��%0 1�"��2����	$��������'�$������"����� �3/"��$�L�#!
W����%
�%�� W�-3��-����'
�'
 �K%
�3�'� ����'S 

2.2 ��	
��
���������
�����
��!"�
	��!!"��#��$
� 

Gatzke ��
%K
 [14] ���C 2000 L-��$���'(��)���
3�B��%�� '!�-���'
��
%��%0 ����#!� ,-��$���'�-#�������'%��%0 '
-��������������'
��#�"���1�"���
�                        
��`���'(��)�������� 2 ��� %/� 1. ���%��%0 ���������'S���, �-� 2. ���%��%0                       
���L-�� ��� �'��1S ��'����������� 

Raff ��
%K
 [15] ���C 2006 L-���
������*)+���"'!�	�����-���"�
� ������              
%�� �#���'�����%��%0 1�"��2����	$��������'�$������" L 
�����2���#������#�"�	$�����                                   
����''���'
���%�� �#���'����!��x- 	��L-��$���'(��)��-���%��%0 '
-��������������
'
��#�"����� 2 �'K� %/� Zero Terminal State Constraint ��
 Quasi-Infinite Horizon                 
,-��$���'(��)���'�������� �'/"�����������"�2�����'%��%0  ��
# ''��
�����'%��%0             
1�"�W���'�-�����"L-��#-������a��
� Quasi-Infinite Horizon �2���������'%��%0  ��
���
# ''��
�����'%��%0 ��"-���
� Zero Terminal State Constraint 

Merchango ��
 Doyle [16] ���C 2007 L-��$��#���'����'�$���� 
Distributed Model Predictive Control (DMPC) 1�"� DMPC �!��$� �#�`������'�-���%��%0 
'
-������������'
��#�"��� ,-�W���'�-����#-������a��
�# ''��
��� DMPC -���
�      
���%��%0 1�"��2����	$��������'�$����2��- completely decentralized ��
�������
�                    
���%��%0 1�"��2����	$��������'�$����2��- fully centralized 

Pinak Pani Biswas ��
%K
 [17] ���C 2009 L-��$���'�-#�������'�`�  
Sliding Mode ��'�������������%��%0 ���3�L���'
��#�"�����" �2
�������'�'��3�'� ����'S               
��"�$����'
�� ��#���'Y�3�%� ��
��'
��
����'�-������L-��#
#Y��
��� (Boundary Layer) 
��"�'���K���1�"�#
�W����#� �'��- chattering L-� ���	�������'�'
�0��S�2����%��%0 ���2
��
�3�" %�� �������
����#!
%
��1a�3���SL-���
����-���"�  
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2.3 ��	
��
���������
�����
��

&	'
��
 � 

Garcia ��
%K
 [18] ���C 1989 L-��#�������'�`� ��'%��%0 ���������'S���
, �-� 1�"���'%��%0 ���������'S���, �-�������'%��%0 #$��'���'
�����'����2���#����" � 
�����'������������'�-��� (Single Input Single Output, SISO) �'/� ������'�������                     
���������' (Multi Input Multi Output, MIMO) ����/��������'%��%0 ���������'S���, �-�
�!��2�����'%��%0 '
���
��� ��" ������
������ 

Shinskey [19] ���C 2001 L-���
��������%��%0 1�"��2����	$��������'�$����
�!��$� ��2�#$��'a	����'%��%0 �%'/"��W����'
-�)��
�'
�����'�/"����" ����`�3���������
������
��0
 ����'
�����'#$�%�&��" ����`�3���������
�������2
��%'/"���������"��%�� '�����
  
�����"�������� ���%��%0 3�L�-���" ���'2-�2���'��
������ ��" �������"%����������%��%0 ���
��(�����	$����	
 ��'
#��`�Y�3����#����
����� /"������������%��%0 ���3�L�-���"�L�                       
���'
�����'-����
�� ��
�������	���#-������'�'
�0��S�2��3/"�%��%0 �0K�Y! ����L���$� 

Oliveira ��
%K
 [20] ���C 2009 �2��*)+��� Hermite Biehler #'���W�      
����'���������%��%0 ���3�L�-� ��'
����" ������
������ ��(��%0K# ���������'3��3��
%�� ��"#!���
�$���-��'�2���#���$����L-���0
 ������%��%0 3�L�-���"�#���' 1�"�������"�'����� �
��������
�W������'�2����%��%0 3�L�-� 	
����3�"�3����# ��'2���#!� ��%�� ���	������W����
��'�2����%��%0 ���3�L�-� ��'
����" ������
����
���
��L����'
����" ������
�����-��&
 

Shneiderman ��
 Palmor [21] ���C 2010 L-���
�������'�M�������'
�'
�����'#�"�����"'!�	�����-� �'
�����'-����
��L-�'����'�
����-�������M�������'���#�����
������
���"�,�� ��4��
��" �%�� �� �
# �3/"��#-����%�-����'%��%0 ���������'                  
�������	������'
�����'#�"���L-��!������'��(��)��3/"�'� �����
���������������'��#'
 ��

W��'
���
�%0K# ������
��'%��%0 ����'
�����'#�"��� �����
������	
3� ��               
���'
�����'�
��� 1�"��$������'%��%0 �'
�����'#�"����
�#��	��
������ ��'�3�" �����
������
��	�$�L�#!
	$������"	$���- (finite), L 
	$���- (infinite) �'/� L 
 � Non-Minimum-Phase (NMP) 
Zero ��� 1�"�	$����-����
��������!
�����'W# '� ���������������'��
��,-��}3�
 
���	������������	�����L-��#-�%0K# �����/"�����'
�����'#�"�����"�����
������ ���(���            
Non-Minimum-Phase (NMP) Zero �2
� # ''��
��'%��%0 ����#!
(!��S��������'
�����'
��
�'
#��`�Y�3���x-������������-��� 
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�����  3 

���	� 

������	
��
������������������������ ������������������ �
��������
��������� ��!�"�#� 
����������$�%��&� ��
'�
��������'���(��%�&�������)
�(��	 ������
�����*�!+	�,��������������$�%��&� ��
'�
��������'���( -&�� ���
'���#������������, �)%���%
��������'��������������, ����������#(��%�"/������������, �
�����!+	�,�������������� 
�����	��������(���-�
������  
������#����������������������)
�( 

3.1 �
��������������
� (Process Control) 

������������������ �+� ������������ /����������������������(*���%
���-/0����(��%������� #��(���/���-/
�%(�/1

�(2�(�����%��3
����������������� �#(             
�����������
�/�����"/#��(��� /�#����	 

1)  ��� /���-��� (Input Variables) �+� ��� /���%���3
�����������-/
�%(� /
� 
��� /������ 
���� /������������������ $�%���� /���-���/�����#��( 

-  ��� /�/��� (Manipulated Variables) ���(��� ��� /���%������/���-/
�%(�
���"#����������� -!+%�������������������"/�*��2�����%������� 

-  ��� /������ (Disturbance Variables) ���(��� ��� /���%"��������
/���-/
�%(����"#�����������  
����3
����2���#'�-�)����-/
�%(� /
�"/
���2���-#)� 

2)  ��� /������ (State Variables) ���(��� ��� /���%�������2������
��������� ���-/J���� /���%�(*����*/������!��KL�� ��
'�
�������������%!�M��
��                
���#�
��
��� 
�!
����� 

3)  ��� /������ (Output Variables) ���(��� ��� /���%��������������
��������� �#(
�-/
�%(� /
�-�+%���� /���-���-/
�%(� /
�"/ $�%���� /������/�����#��( 

-  ��� /���#���"#� (Measurable Variables) ���(��� ��� /���%��������#���"#�
�#(��� #��(��/��PL��# ��	���	 -�
���%�&������#'�-�)������#�����	�!��'��������������
��������� �� Real time 

 



 
 
11 

-  ��� /���#���"��"#� (Unmeasurable Variables) ���(��� ��� /���%"��������
����/��PL��#���"#��#(��� ��+�����/��PL��%��������#���"#� �������&�-�
������/����
3

(�����������%�&���������������������������� �� Real time 

4)  ��� /������� (Controlled Variables) ���(��� ��� /��������%�������
����������(*���%���-/0����( 

3.2 "��#$�%
#�
������� (Control Configuration) 

������������������ �+� �����������%�*�
'� ��
��WP�����&�����*
��%"#�
��
��/��PL��#-!+%�/���-/
�%(���� /�/��� ���������������������
�(
��WP�  ����%�&�����(*�
�#(��%�"/�������������#����	 

3.2.1 �
�������+��,-.��/0� (Feedback Control) 

��������� ��/0���
��-/J�����������#(��#������ /������� 
��
-/��(�-��(�������-/0����(��%�'���#"�� -!+%��'���P�������3)#!
�#��%-�)#��	� 
����	�
�
�'���P������ /�/���-!+%���������� /����������"#�������-/0����( 

��# /��� 
��� /������� (��� /������) ��� /�/��� (��� /���-���) 

Process

TT

TC

Disturbance

(Qloss)

Output

(T)

Input

(Q)

-

SP
+

 

�5,��� 3.1  3�2�!������������ ��/0���
�� 
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3.2.2 �
�������+��,-.�6,7%
#8�%
 (Feedforward Control) 

��������� ��/0��"/��������-/J�����������#(��#������ /������
-/��(�-��(���������� /���������#��  
��/���-/
�%(���� /�/����#(��%"����#��� /������� 

��# /��� 
��� /������ (��� /���-���) ��� /�/��� (��� /���-���) 

Process

TT

TC

Disturbance

(Qloss)

Output

(T)

Input

(Q)  

�5,��� 3.2  3�2�!������������ ��/0��"/�������� 

3.2.3 �
�������+��,-.�6,7%
#8�%
+/�,-.��/0� (Feedforward and 
Feedback Control) 

��������� ��/0��"/�������� 
�/0���
��-/J������������%3��3���               
��������� ��/0��"/�������� 
� ��/0���
��-���#��(���-!+%�
#���#��(�����	������������� 
�
����+� ��������� ��/0���
��������
��&������� ��"�����3)#!
�# ������������� ��
/0��"/��������"��������/�����"#�-���"/������ /�������
���������������-/0����( 

��# /��� 
��� /������ (��� /���-���)  
� 
��� /������� (��� /������) 

��� /�/��� (��� /���-���) 
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Process

TT

TC

Disturbance (Qloss)

Output (T)

Input

(Q)

-

SP
+

TT

TC

+
+

 

�5,��� 3.3  3�2�!������������ ��/0��"/�������� 
�/0���
�� 

3.2.4 �
�������+��70;�/<
=0� (Cascade Control) 

��������� ����	�
'�#��-/J������������%/�����#��(�������� 2 �� �+�        
��������/,�2*�)��+����������
�� (Primary loop)  
������������)(2*�)��+������������ 
(Secondary loop) ����������	������	
��*�
�#�����
��WP���%�����������������������%�          

��*��&�-/J����-/0����(�'�����������������������%� �#(��%�"/��� /������
�����������            
�����������
��
��*����-�����-/J����-/0����(�'���������������������������-!+%��&�               
�����-/��(�-��(����
����/��PL��#-!+%��'���P 
�/��������� /�/��� $�%�
���3
�
��"/(��             
���������
�� 

��# /��� 
��� /������� (��� /������) 

 (���������
��) 
��� /������� (��� /������) 

 (�����������) 
��� /������� (��� /������) 

 (�����������) 
��� /�/��� (��� /���-���)  

 (�����������) 
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Process

TT

TC

Disturbance

(Qloss)

Output

(T)

-

SP
+

Process

TT

TC

(Q)

-
SP+

Input

(Flow)

 

�5,��� 3.4  3�2�!������������ ����	�
'�#�� 

3.3 >0�������+��?�6.=� (PID Controller) 

��������� ��!�"�#� ��!+	�,����
����
����������� ��/0���
�� 
(Feedback Control) -!+%�
#�������3)#!
�# (Error, )(te ) ���-/J�]*�(L�#(��% 

)()()( tBtRte +=     (3.1) 

-�+%� )(te  �+�  ��������
�#-�
+%�� (Error) 

)(tR  �+�  ���-/0����( (Set Point) 

)(tB  �+�  ��������� /������� (Controlled Variable) ��%��#"#� 

�)K���������� ��!�"�#� /�����#��( 3 ���# �+� ��#������+�!� (Proportional, P) 
/�)!��KL��+�"� (Integral, I)  
����!��KL��+�#� (Derivative, D) 

3.3.1 �
�������+��$0=$B�� (Proportional Control) 

��������� ����#������+�!���	� ���/���-/
�%(����-���L!�����������
(Controller Output) 
�-/J���#�����#(����������3)#!
�# #����������"/��	 

)()( teKptp c+=  (3.2) 

-�+%� )(tp  �+�  -���L!����������� 

p  �+�  ���-��%(�-����+����-���L!�������������%������(*���� 
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cK  �+�  ���������(�(��������� (Controller Gain) 

3.3.2 �
�������,�D?0�EF (Integral Control) 

���������/�)!��KL��+�"� 
���� ���#(�'���#���-���L!�������������	��(*����
���/�)!��KL����������3)#!
�#������ /��������
�#&���-�
� 

∫+= dtte
K

ptp
I

c )()(
τ

 (3.3) 

-�+%� )(tp  �+�  -���L!����������� 

p  �+�  ���-��%(�-����+����-���L!�������������%������(*���� 

cK  �+�  ���������(�(��������� (Controller Gain) 

Iτ  �+�  -�
�/�)!��KL (Integral Time) ��+� -�
���-$� (Reset Time)  

3.3.3 �
�������.��?0�EF (Derivative Control) 

-���L!�����������-/J���#���������������-/
�%(� /
�����������3)#!
�#
������ /������� #������� 

dt

tde
Kptp Dc

)(
)( τ+=  (3.4) 

-�+%� )(tp  �+�  -���L!����������� 

p  �+�  ���-��%(�-����+����-���L!�������������%������(*���� 

cK  �+�  ���������(�(��������� (Controller Gain) 

Dτ  �+�  -�
����!��KL (Derivative, Time) 

��������� ��!�"�#�
����-���L!�����������-/J�"/�����������"/��	 









+++= ∫ dt

tde
dtteteKptp D

I

c

)(
)(

1
)()( τ

τ
 (3.5) 
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-�+%� )(tp  �+�  -���L!����������� 

p  �+�  ���-��%(�-����+����-���L!�������������%������(*���� 

cK  �+�  ���������(�(��������� (Controller Gain) 

Iτ  �+�  -�
�/�)!��KL (Integral Time) ��+� -�
���-$� (Reset Time) 

Dτ  �+�  -�
����!��KL (Derivative, Time) 

-�+%���������� �����-�+%��-��%(�-��"/
��������(*���� 3
����������
�#(��%�"/���������%��-���(�2�!
�
*�-����*������%������(*�����(���&��e (�#(��%��

�"���&�             
���-/0����(��%�������) ����&����������!�������������#���
��� 
�-�������-�f����
3
����������-����*����-/0����(-�f���	� 
�
#��g-$�������(
� ���-!)%�!
�L/�)!��KL-���"/          

�&��(�'�
�#��g-$� ��3
�������
� ���������	� ���-!)%�!
�L���!��KL-���"/-!+%�-������
3
�������
�����������-�f���	� 
� �������(
�  ���(���"��f��� 
��WP����3
                      
����������
���	��(*������� cK  , Iτ   
� 

Dτ  ��%�&� 
�
��WP�������������#��(                  
�
����#(��%�"/ �+� 

- ���-!)%���� cK  �'����3
����������-�f���	�  ������*�-�)�"/��
�'����3
            
����������-�)#��� ������+�"��-���(� 

- ���
#���  Iτ  �' �����' �
�#��g-$�"#�   ���� ��%' � -�)�"/
��'���� ���3
                      
������������� ��  
� �������
�"��-���(� 

- ���
#��� 
Dτ  &��(
#��	�-�
����������� 
���� ����  ���������*����

-�)�"/
��(�(��hh�P����� (Noise)  
����3
�������������-�)#��� ���������	� 

3.4 >0�������HI�#JK%+��L<
/.#J��
��<
�
M (Model Predictive Control) 

���������$�%��&� ��
'�
��������'���( (Model Predictive Control , MPC)                      
-/J������������%��]�( ��
'�
������������'�����/����P3
�������������������  
 
�/��(���L�&�g1��L&��-/0����(�������/�)"�$L-!+%��'���P������ /�/�����%-������  
�
�'�"/�&���������� /�����������(*���%���-$f�!�(�L �#( ��
'�
����%�&��'������������������	�
 ��
'�
����%-/J�-&)�-���  
� ��
'�
����%"��-/J�-��� $�%������������
������*
����e ������� 
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��	���%-/J�-&)�-��� 
���%"��-/J�-���"#� �*/ ��������������$�%��&� ��
'�
��������'���( ��%-/J�  
��%�*�
���(��� !���
�( -&�� ��������� ��"#���)�-���)�$L , ��������� ���)�-���L��
��-#
 ,                 
��������� �����#���)�"#���)�-���)�$L  
���������� ��-
�-���)���-#
 -/J����                
$�%���]�(�
�����-#�(�����+�-/J�����������#(��]�( ��
'�
��������'���P&�#������           
���������������� �#(��
��K��������������$�%��&� ��
'�
��������'���( 
��'������
������ /�/���������%-������
�������� /��-����% ��!k�)����������������������	���%             
�'���������� �'�����������������������������-/
�%(� /
���%-�)#��	������������"#�  
 �� ��
'�
�����������������
�3)#!
�#��+�����hh�P�����-�)#��	�   
�(��������
�������������������(*������-����%/
�#2�("#��#("������/���/��� ��"�����������
���(���	� ���
����	(��"#������/��(���L�&����������$�%��&� ��
'�
��������'���( �������             
���/����P������ /��-�� 
�!����)-���L -&�� ��
���gl
-���L$�%�
�&��(���-��)����                        
���������$�%��&� ��
'�
��������'���( ��/���)�K)2�!����'�����*�()%���	� 

3.4.1 "��#$�%
#7.#�������
�7.#>0�������HI�#JK%+��L<
/.#J��
�
�<
�
M 

������������������$�%��&� ��
'�
��������'���( -/J������������%��]�(
��hh�P������ /���%��#"#�  
������%"#�
�����/����P��� $�%��*��'�"/�'���P����� /�/���        
��%-����������2�����������������%-�)#��	� ���������$�%��&� ��
'�
��������'���(��]�(
 ��
'�
����������������%/�������� /��-�� $�%������� /�"���������'������#���"#�
�#(��� -!���m���	�
��������'�������-����&��(�����/����P��� /���	�e P -�
���%                   
�'���������� �#(��]�(������ /���# 
���� /�/��� P -�
���%3����� �'����������-��(�
�����������%�"/�������������"#�#���*/��% 3.5 

 

ProcessController

Observer

 

�5,��� 3.5 ���������������������$�%��&� ��
'�
��������'���( 

r u y

x̂
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!)
��P�
���*/��% 3.5 3
����������hh�P�������%-�)#����������� 
�
���3
������ /���#
��*��'�
�#�#(���/����P������ /���#��%�*��������������-�� (Observer) 
$�%����
��
�/����P��� /���#��%�*����� 
�� ������-��(���������&������/����P������ /�
��%"���������"#����#��( ���P�-#�(�������������$�%��&� ��
'�
��������'���(��������
������ /�/�����% -�������'����������������%������3)#!
�#��� ��
'�
�� (Model 
Mismatch)  
���hh�P����� (Disturbance) ��%-�)#�����������3
)�"#� ����-�����%
 ��
'�
��(���������&� �����������
�)�"#� 

�����/�)"�$L������������$�%��&� ��
'�
��������'���(�'�-!+%��������%
-�����������/������ /�/�����%�'������� /�������-����*������%������� �#(���������
���]�(            
�����/�)"�$L
������� -!+%��'���P������ /�/������ ����%"#�
�������/�)"�$L �����%"#�
��*�
�'����&���������������� P /1

���� �
��
����	�����������$�%��&� ��
'�
��������'���(

��'������#������ /���# 
�/����P������ /��-��-!+%��'�"/��/�)"�$L�������� /�/�������
������	���%�'������# 

 

 

�5,��� 3.6 ����������� /�/���
������� 
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3.4.2 $B��,���.�7.#>0�������HI�#JK%+��L<
/.#J��
��<
�
M 

����������#(��%�"/������������$�%��&� ��
'�
��������'���( Clarke  
� 
Scattolini [3] "#�-���"��/�����#��(g1��L&��-/0����( (Objective Function , F) $�%��#(��%�"/     

��(*����*/3
����������'�
������������3)#!
�#���������hh�P����� (Output) ��������%��	�"�� 
(Set Point)  
��'�
�������������� /�/���, g1��L&����������� (Process Model)  
�g1��L&��
���-�������������� (Constraint function) ��	����*/�������� (h)  
��*/��������� (k) 
#����	 �+� 

g1��L&��-/0����( )](),(),([ tytxtufF =  (3.6) 

#�&��������� ∫
+

=
PTt

t
tu

o

o

dttytxtuFJJ )](),(),([;min
)(

 (3.7) 

�#(��% 

��������� ),( uxf
dt

dx
=   ;  ),( uxgy =  (3.8) 

���-����������� 0),( =uxh   ;  0),( ≥uxk  (3.9) 

���-�)%���� 
00

)( xtx =  (3.10) 

$�%�����/������'���h��	�����������"#� ��  ��
'�
�������������� g1��L&��
-/0����(  
����-����������������	����-�������� /�/��� 
���� /������� 

3.4.3 $��
�+��L<
/.#7.#�������
� 

������������$�%��&� ��
'�
��������'���( ����� ��
'�
�����������
������-/
�%(� /
�"#���������������%�&���� 
������)
�(��%3�����!�
����/�*/ �����
�����
'�
��������������"#� 3 �*/ �� #����	 

1) g1��L&���)�!��-���L!�� (Input/ Output Model) -/J������ ��
'�
����%��� 
��� /���������	���������� /�/��� ������ (�"#���� ����������#����+� -/J�g1��L&��!�
�L          
(Pulse function) g1��L&���-�f/ (Step function)  
�g1��L&�����(��� (Transfer function)  
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g1��L&��!�
�L (Pulse function) 

∑
=

−−=
P

j

jkjk uHy
0

1   (Finite Impulse Response Model-FIR) (3.11) 

g1��L&���-�f/ (Step function) 

∑
=

−−∆=
P

j

jkjk uSy
0

1   (Finite Step Response Model-FSR) (3.12) 

�#(��%-���)�$L H  
�S -/J�-���)�$L�������%��%-/
�%(� /
����-�
� 

g1��L&�����(��� (Transfer function) 

g1��L&�����-/
�%(� /
���������� /������������� /���#���*/ z �#-��           
�#(������-��(�g1��L&�����(���������-/l#��%-/J�-]W�������!
�L�!
)��-��(
  

)(

)(

)(

)(

zA

zB

zU

zY
=  (3.13) 

�#(��%  
nn

nn

nn

nn

bzbzbzbzB

aZazazzA

++++=

++++=

−
−

−
−

1

1

10

1

1

1

...)(

...)(  

�&������"#��-g�"��L  ������������� /�/��� 

�#(��%  
nn

nn

nn

nn

zzzz

zzzz

zFzHzbzzAz

βββββ

αααα

βα

++++=

++++=

=+

−
−

−
−

1

1

10

1

1

1

...)(

...)(

)()()()()()(

 


�"#�g1��L&�����(������������/l##���*/��% 3.7 

)()(

)()(

)(

)(

zFzH

zBz
K

zR

zY α
=  (3.14) 

�#(��%��� K -/J����-��������������� 

 
����������������������-�� (Observer) #���*/��% 3.8 

)(

)(

)(

)(

zH

zB
K

zR

zY
=  (3.15) 
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�#(��% F (z) -/J�g1��L&���!
)��-��(
���������-�� 

+

-

 

�5,��� 3.7  3�2�!����������#(�&�g1��L&�����(���-/J� ��
'�
�� 

+

-

+ +

-

 

�5,��� 3.8  3�2�!�������������#(�&�g1��L&�����(���-/J� ��
'�
��!����#��(���-�� 

2) ������������� (State Equation) -/J� ��
'�
��-&)�-���-��(��(*����*/           
��� /������ (State variable) -&�� ��� /�/��� ( ����h
��WPL u) ��� /������ ( ��#��(
��h
��WPL x)  
���� /���# ( ��#��(��h
��WPL y)  
���� /������������ /�"����������#
�#(���"#� ��������/����P���"#�
����� /���%��#"#� �������%�"/������������-!+%��&� ��
������
�)��������������'���( ��
'�
��������-��(�"#�#����	 

),(

),(

dxgy

uxfx

=

=&  (3.16) 

�#(��% x̂  �+�  -��-���L����� 

û  �+�  -��-���L������ /�/��� (��hh�P��-������������) 

����P���% ��
'�
��������������������"��-/J�-&)�-��� #����	������-��(�
����������
�������'���� /
� ��
'�
����� -/J������-&)� -��� -��(�-���)���	��� 
Linearization  
�����'���� /
����-/J�-&)�-�������������������������
�-��(���� Locally 

)(zR
K

)(

)(

zA

zB

)(

)(

z

z

α
β

)(zY

)(zR
K

)(

)(

zA

zB

)(

)(

z

z

α
β

)(zY

)(

)(

zA

zB

)(zU
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Linearization �
��
����� /
����-/J�-&)�-���
�"#������������������������	����*/���
��������-�+%�� (Continuous)  
������"�����-�+%�� (discrete) 

��������-�+%�� 

xy

uxx

C

BA

=

+=&  (3.17) 

�#(��% A, B  
� C -/J�-���)�$L����������% 


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2
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
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�����"�����-�+%�� 

k

kkk

xy

uxx

C

HG1

=

+=+  (3.18) 

�#(��% G, H,  
� C -/J�-���)�$L����������% 

...
)!1(

A
...

!3

A

!2

A

BH

AG

1322

+
+

++++=Ψ

Ψ=

Ψ+==

+

i

TTT
T

Ie

ii

AT

 (3.19) 

T = ��������������� 
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3.4.4 UV#�FK0�W,-
8�
M (Objective function) 

g1��L&��-/0����(�+�g1��L&����%�'���#��������������'���/�)"�$L $�%�-/J�
g1��L&����%���3
-/J�������-!�(����-#�(�����P���%�������%���(��%��# (-/J�
�����P���%��                       
��������%��#) ������-/
�%(���������������+���� /���%���������/�)"�$L ���������������
$�%��&� ��
'�
��������'���(�������
�-��(�g1��L&��-/0����(���*/�'�
�������+���������#���)�
������ /������� 
���� /�/��� �#(����)
�(��	"#��&�g1��L&��-/0����(���*/�'�
��������                   
��� /������� 
���� /�/��� �#(�'���#������ /�������������3)#!
�#(��'�
�����                   
���(��%��#  
��'����������-/
�%(� /
������� /�/��� �#(�'���#/1

�(�����	'�����-!+%����"#�3

���������%������� 

g1��L&��-/0����(��������������#���)�"#���)�#�����"/��	 

)(R)()ˆ(Q)ˆ( 11 −− −−+−−= kk

T

kkr

T

r uuuuyyyyF  (3.20) 

-�+%� ry  �+�  ���-/0����( 

ŷ  �+�  ��� /���#��%"#�
������'���( 

RQ,  �+�  -���)�$L�	'����������� /��-�� 
���� /�/��� 

1−− kk uu   �+�  ���-/
�%(� /
���� /���	� �� P -�
���%/1

����-/J����"/ 

-!+%����g1��L&��-/0����(-/J�g1��L&����%-/J����
��-��(�����(*����*/(��'�
�����
������ /��-�� 
���� /�/��� �#(��-���)�$L��� (Positive definite) Q  
� R -/J�-���)�$L
�	'����������� /������ 
���� /�/������
'�#�� $�%�-���)�$L�	'����� Q  
�R -/J�-���)�$L��%
���������'���h������ /������������ 
����/���
*��������������-/J������%������
/���-/
�%(�"#� 

-�+%�!)
��P�g1��L&��-/0����(������������$�%��&� ��
'�
��������'���(
�
�#-�
������������������� /�������-����*������%�������2�(����������� M ��� 
�����'���P
3
���������������� P ����'���������������#�&��������� (J) "#�#�������#����	 

∫
+

+=
PTt

t

TT
dtuuxxJ )RQ(   ��+� (3.21) 
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∑ ∑ ∑
+ + +

+

+++=+=
Pk

k

Mk

k

Pk

Mk

TTTTTT
uuxxuuxxuuxxJ )RQ()RQ()RQ(  

����������$�%��&� ��
'�
��������'���(��������������������� /�/���
-����*������%�������2�(��-�
� M �'���������� /�/��� 
���� /��-�������-������]*�(L �'����
������-��(�g1��L&��#�&��������� (J) �+� 

)RQ( uuxxJ
T

Mk

k

T += ∑
+

 (3.22) 

2�(���-�+%��"� 

kkk uxx HG1 +=+  

�'��
�������� Lagrange Multipliers �'������������ "#��������#�&��
������������������ 

∑
+

−+ −+++=
Mk

k

kkkkk

T

kk

T

k xuxuuxxuxL )HG()RQ(
2

1
[),( 11λ  (3.23) 

-�+%��'���� �������
�"#�������)���) (Ricati Equation) &��(����� �������
-!+%����"#�-���)�$L�	'����� P �'���������'���P�����-���������������  
���&�#��� /�/���
�'��������������������������"/ ����P���%-���)�$L�	'����� P Q  
� R ���������%
�-��(�
������������	���������������/�)��
����� (Steady State Optimal Control) 
�"#� ������)���) 
$�%�
��'������� Pk��%"#�
������-����*��������% 

T

k

T

k

T

kkk GPH)HPHR(HGPGGPQP 1

1

111 +
−

+++ +−+=  (3.24) 

 
�����������-���'������)K�������/0���
�� (State Feedback) 
������� 
������������'���������-!�(����	�-#�(��+� P -�
������� 

)QP()G(HRK
11 −= −−

k

TT

k  (3.25) 

���������� /�/��� (��-!�(����-#�(��+���� P -�
� k∆t �'�����������) 

kkk xu K−=  (3.26) 
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3.4.5 7.�W7>7.#>0�+,�,�0�+/�7.�W7>7.#>0�+,�$\
�� 

��/1

��������������$�%��&� ��
'�
��������'���(�������������������
�(*�2�(�����-�������� /� 
����-�������� /��������%�������"#����-��+�
�����-��
��������������%�
����� 
���������� 3.4.2 ��� ���&�)#���-�������� �������*/ �����
��������-��"#����&�)#�+� ��������-�� (equality constraint)  
� ���������-�� 
(inequality constraint) #����(
�-��(#���"/��	 

(1) ��������-�� (equality constraint) ��
��WP�-/J��������%�����"#�&�#-
�
������-��(�-/J��������%�"/"#�#����	 

0),( =uxh  (3.27) 

#��-&�� ��������-���������������������� 

0HG 1 =−+ +kkk xux  (3.28) 

(2) ���������-�� (inequality constraint) ��
��WP�-/J��������%�'����   
-/J�&���������-��(��������%�"/"#�#����	 

0),( ≥uxk  (3.29) 

��/1

�������������-��(�� ���"#����/��-2� �+� ��������%�����-��&�#-
�
-��(���� Hard Constraint  
���������%�����-��"��&�#-
�-��(���� Soft Constraint (�����(���
-&�� ���-�������� /�/�����%������-��(�"#���	���� ��#����	 

(2.1) ���������-����%�����-��&�#-
� (Hard Constraint) 

maxmin uuu ≤≤  (3.30) 

(2.2) ���������-����%�����-��"��&�#-
� (Soft Constraint) 

max

maxmin

0 εε

εε

≤≤

±≤≤± uuu  (3.31) 
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���������$�%��&� ��
'�
��������'���(������-!)%����-����	����*/���
����� 
��������#(�����-!)%����-�� ��������������(���(�� 
�$��$���  
��&�-�
�
������'���P����'����"����#���������&�������������� �����]��W�����$�%��&� ��
'�
��
������'���( ��"���'���#���-�������� /��-�� 
���� /�/��� 
��&����-����� /�/���
���������������#��
��� �� (��������� ��!�"�#�- PID Controller) -!+%�"����������������            
�(*����-��+����-�������� /�/�����%�������'�"#� 

3.5 W�/
8�B�# (Delay Time) 

-�
������ �+� -�
���%
��&�� -�)%���	� ��-�+%���hh�P
������������*�/
��(
���"/ 
������%�-�+%���� /����������-�)%�������� �����-�
������-�)#��	��'�����
����������#e �f��� "��-�(-/J��)%���%#��'�������������� �����-�
������-�)#�����	�
��'����
���������()%������( 
�(����%
�-���(� -�
������������-�)#��	�"#���
*/������-�+%����
��
�
�(-���3
 -&�� 

-  
*/�������#(��%�"/���
���-��+%���+���#����(�����%
��'���$�%�-�
������            
�(������(��#
�������#����(������%����	������%�
*/������ -�
��������	 ��
�"���&�/��-#f�         
�����/������������  ��&�	���-�f�������
*/������
���-�
������-/J��(������( 

-  -�
���%�&��'�����-#)�����������#e 
��
�#���%�"/(�����
�#���%�������-!)%�
-�
��������
*/"#� �����P�����) (-&�� ����-��������+���P�2*�)) �����-/
�%(� /
���%/
�(#������%� 
������ 
�-$f�-$��L��	��(*���%/
�(���#������%� ���-/
�%(� /
�
�"��"#����������
!�
�             
����#e ��	� "#�(��("/���/
�(����(�������� ����P���	-�
������-#)�����f�+�-�
������          
 ���)%���	"��"#�-/J�/1h����%-�)#��	�-m!�������������#��h���%�����(��-�����	�  ��������-�)#��	�"#�
�������������������-�
�-�
+%����%�(���&��e "/������ ��(������

�-�������(��            
��� ��  ������-�f�������"�
��%�%'�����������'����-�)#-�
��������%��3
������������ 

-  ��/��PL���
��# 
��)-�����L��
�&�-�
����-!+%����"#�3
��������# 
����(���-&�� Thermocouple ��%�*�����"���(��� ������ -!+%���%
����������(*����2�! �#
��� 
��%��� ��"#�  ���)%����������%���������-!)%�����
��&�����������
������-/
�%(� /
����
��P�2*�)���	'���%�'������# 
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3.6 �
��0=$���\�� (Performance Measures) 

��������	�
���/���(&�L�������&������#���������������� �������e             
��%!)
��P�-�+%����������������(����-�+%������3�� /� 
�-��%(�-��
�����������%��	�"�� 
/��-#f���	-/J�-�+%���'���h����������� 
��-�)#����!(�(����%
���#��P2�! 
��&�-���)�    
�����������P2�!-&)���)�) #����	�-���)������������P2�!-&)���)�)
���*���� ��-!+%�
# 
�
�'�
�#����3�� /����������������� ��������
�#-�
+%�� (error) ����������
���*��)(��
"����� �+� �������-��%(�-��
�����-/0����( $�%����)K���������(������'���P��/�)��P���  
��������
�#-�
+%������ #�����"/��	 

-  3
�����������
�#-�
+%�� (Integral of Error, IE) ���(��� ��������
�#-�
+%��
���� �#("��!)
��P����-�+%���)]��������
�#-�
+%�� #����	�����&� ���IE 
��"��������(+�(��
�*/ �������� ����"#� #���������% 3.32 

∫
∞

=
0

).(IE dtte  (3.32) 

-  3
�����������
�#-�
+%������*�PL (Integral of Absolute Error, IAE) �+�
���3
������!+	���%#����� 
�
���������-/0����(�(�����%'�-��� 
�"��!)
��P����-�+%��
�)]��� #���������% 3.33 

∫
∞

=
0

.)(IAE dtte  (3.33) 

- 3
�����������
�#-�
+%���'�
����� (Integral of Squared Error, ISE) 
�)K������	
��)#��������
�#-�
+%�������#(����	'�������������
�#-�
+%����%�������� 
-�+%��
�����(��'�
�����
��'������������
�#-�
+%����%������-��%(�-�����
�()%�����������	� 
#���������% 3.34 

{ }∫
∞

=
0

2
.)(ISE dtte  (3.34) 

-  3
�����������
�#-�
+%������*�PL��%�)#�	'��������-�
���%3���"/ 
(Integral of Time-weighted Absolute Error, ITAE) �)K������	
��)#��� �����
�#-�
+%������
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�#(����	'����������'���h�����������
�#-�
+%����%-�)#��	��
��
��-�
�3���"/���e �������
��������
�#-�
+%����%-�)#��	�-�+%�-�
�3���"/���(e #���������% 3.35 

∫
∞

=
0

.)(ITAE dttet  (3.35) 

-  3
�����������
�#-�
+%���'�
�������%�)#�	'��������-�
���%3���"/ 
(Integral of Time-weighted Squared Error, ITSE) �)K������	
��)#��� �����
�#-�
+%������
�#(����	'����������'���h�����������
�#-�
+%����%-�)#��	��
��
��-�
�3���"/���e  
�                
��������
�#-�
+%����%�������� #���������% 3.36 

{ }∫
∞

=
0

2
.)(ITSE dttet  (3.36) 
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�����  4 

��	�
��
����������� 

�����	
��
����������������������������	����
�������
�� �����!���"�
���       
#"$��� �%$����$�����
�������
�� ����� �%"��&'������(
�)���*� ���������+��
�,������(��'
)����
�������
�� ����� ��� ����-��	.����)���
�� �����-�
���"���-(
�(������%� 

4.1 
����������������������������������������� �� 

4.1.1 �!
����
"������������������ �� 

������$������	
������ 4 ���������(
���� $���*"��� 4.1 !���	
"�
���#"$��� 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

�#$��� 4.1 ��
������)���
�� ����� 

 

I/O 
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1) �������%��
$����.� 	.���� 4 ��� 

 

�#$��� 4.2 �������%��
$����.� 
2) �%"��&'��$�
$����.� (Pressure Transmitter) 	.���� 4 (��A$��+�B�              

���(��		���"C���
- #D(�� ���
�� 4 - 20 mA 

 

�#$��� 4.3 �%"��&'��$�
$����.� (Pressure Transmitter 
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3) ���'�����%� (Control Valve) ��� .�+�������%��
$������ *�)����.�              
A$��.����"�����(�����#+����"L���)�� *
��� A$����'�����%���	.���� 2 (�� 

- Control Valve 1 ���"�����(�����#+�)����.�#+��)�������� 2 -�
������ 3  .�+���            
�������%������
$��)������ *�)��)���+�������� 2 -�
������ 3 

- Control Valve 2 ���"�����(�����#+�)����.�#+��)�������� 1 -�
������ 4  .�+���                
�������%������
$��)������ *�)���+�������� 1 -�
������ 4 

 

�#$��� 4.4 ���'�����%� (Control Valve) 
4) ���(��'��$"����&��.� (Flow meter) ��� .�+�����$��(�����#+�)����.� 

 

�#$��� 4.5 ���(��'��$"����&��.� (Flow meter) 
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5) "PQ���.�-��-���+�����+��R*��'���� (Centrifugal Pump) 	.���� 2 (�� !������
����� *���.�	���
��,����.�#"����������%����� *�)����.����� 4 ��� A$�"PQ���.����(����� 1  *���.�
"L���)�� *
������ 2 -�
������ 3 -�
"PQ���.����(����� 2  *���.�"L���)�� *
������ 1-�
������ 4 -�
"PQ���.����� 2 (�� 
	
(
�����������'�(��'�,������ "�����(�����#+����)����.����
���+�#$�(����(�����#+�                   
���(������ 

 

�#$��� 4.6 "PQ���.�-��-���+�����+��R*��'���� (Centrifugal Pump) 
6) �������'�(��' (Inverter) 	.���� 2 (��(
��)�����"PQ���.�A$��������'�(��'(����� 1 

���"���-��$��#DDL�)��"PQ�(�����1 �,�������%���(�����#+�������#+����	��"PQ�(����� 1 -�

�������'�(��'(����� 2 ���"���-��$��#DDL�)��"PQ�(����� 2 �,�������%���(�����#+�������#+����
	��"PQ�(����� 2 

7) ���' (Valve, V) ���"���(����
���(�����#+�)����.����#+��)��-�
���	����� 
A$����'��	.���� 6 (�� 

- V1 ���"���(����
���(�����#+����	�������� 1 
- V2 ���"���(����
���(�����#+����	�������� 2 
- V3 ���"���(����
���(�����#+����	�������� 3 
- V4 ���"���(����
���(�����#+����	�������� 4 
- V5 ���"���(����
���(�����#+��)�������� 2 
- V6 ���"���(����
���(�����#+��)�������� 4 
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�#$��� 4.7 ���' (Valve) 
8) �
��,����.�)��$�+[
 (Water Reservoir) ��� .�+���,����.��
�����	
 *��)��

��
������ 
9) �
� 
���.� PVC ���$�
�-)^�)��$� ��B
��R*��'���� ½ ���� 
	���*"��� 4.1 "PQ���.����(����� 1 	
�.���� *���.�	���
��,����.� (Water Reservoir) 

�,��� 
�B
��#"��� ������ 2 -�
 ������ 3 A$����������)�������� 3 	
�*�����%�$��� Control Valve 1 
-�
���������)�������� 2 	
����%�$������'� V 5 -�
 "PQ���.����(����� 2 	
 *���.�	���
��,����.� 
(Water Reservoir) �,��� 
�B
��#"��� ������ 1 -�
 ������ 4 A$����������)�������� 1 	
�*�����%�
$��� Control Valve 2 -�
���������)�������� 4 	
����%�$������'� V6 +���	��������.�	�������� 1 
-�
������ 3 	
#+�������������� 2 -�
������ 4 B
�����'� V1 -�
 V3 (���.�$�� -�
��.�	�������� 2 
-�
������ 4 	
#+����
��,����.�B
�����'� V2 -�
 V4 (���.�$�� 

4.1.2 �!$��-.
�����/0�1���#" 

1) �%"��&'���-�
 
�)���*� (Data Aquistion, DAQ) A$�	
�.�+��������������
 �[[�&-���
���^��	���%"��&'��$�
$����.� (Pressure Transmitter) )�������� 1, 2, 3, -�
 
4 -����.����-"���+��"C� �[[�&$�	�(�� �,��� 
��+����,���(��'�.����"�
���B������ ����
 �[[�&����%� 	������	
�.�+�����������-"�� �[[�&����%�!�����*
���*"-��$�	�(���+��"C�
 �[[�&�
���^�� �,��� 
��+�������'�����%� (Control Valve) ���� �� A$��%"��&'��� 
�)���*�            
�������"C�)�����c�� �����-����� (�*���(' �%
� NI USB-6008 
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�#$��� 4.8 �%"��&'���-�
 
�)���*� DAQ �%
� NI USB-6008 

2) ����������,���(��' 
���%����.�+��������������-�
 
�)���*� 

 

�#$��� 4.9 ����������,���(��'������������$��� 

3) A"�-�������%��������	�����#$��.�����)���A"�-�������%�)�����A$���R��

A"�-��� Matlab !����"C�A"�-�������� �����
 *��,�������%���������� ���	��������c&
)��
����)��� ������A"�-����̂�+���� �����&�(R� (�'����%����������*
-��� ����.���� �����
�.�#$�����-��(�$(
�A$�(�� (Interactive) �������)����.� ����)��#"���
�.� ��� �,����+� Matlab 
"�
���B�#"������k +��� ���������%$�.� ����"C�A"�-��� 	%$�$
���
��+����)�� Matlab ���
)���*��%�(����̂����*" array ���(��-"�-(
�
(��	
#$�������-�
��"C� 
���
��k )���+��� -�
��"C� 
Element ������� !���������(��-"��"C� array �� Matlab ���� #�
	.��"C�(���	�� dimension �+����
����)���A"�-����
$����������#"  
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4.1.3 �0�4�����
/��.1������������������ �� 

�������	�����#$��.����+��
�,������(��'(
��k)���
��	������$���-�
              
�����$�
�	���%"��&'	��� 

1)  �
� ��"�
 ��o�p���#+�)�����'� (V1, V2, V3, V4)  �����+�#$�	�� ���� 

f

V
G

gh
CF

ρ
=  (4.1) 

����� F  ��� ��(�����#+�)����.� (L/min) 

VC  ��� �
� ��"�
 ��o�p���#+�)�����'� (L/(min* Pa )) 

h  ��� ���� *�)����.������ (m)  

ρ  ��� ����+��-�
�)����.� = 1000 kg/m3 

g  ��� �
�-��A����
�� = 9.81m/s2 

fG  ��� �
������
��	.��,�
)����.� = 1 

	�� ������� 4.1  �����	�$�*"�+�
#$� 

hKF =  (4.2) 

����� 
f

V
G

g
CK

ρ
=  (4.3) 

���� *�)����.�( h ) �����+�#$�	�������� ��)���
����� *��v����)����.� 
-�
��(�����#+�)����.� ( F ) �����+�#$�	��B�(
��)������ *�)����.� +��$���B�(
��)��
���� ������� *�)����.� hi -�
 hi+1 �*&$���,������+���(�$)���������%��
$����.�!���	
#$�$��(����
��� 4.1 
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/������� 4.1 �
������� ��)������ *�-�
��(�����#+����)����.����#$�	������.���& �����
����%���� 1, 2, 3 -�
 4 

  time (s) F  (L/min) 
Height(cm) h (m1/2) ������1 ������2 ������3 ������4 ������1 ������2 ������3 ������4 

0.8 0.894 0 0 0 0 4.072 23.819 4.693 19.426 
0.75 0.866 11.64 1.99 10.1 2.44 4.232 25.622 4.580 25.348 
0.7 0.837 22.84 3.84 20.45 4.31 3.960 24.433 4.361 23.122 
0.65 0.806 34.81 5.78 31.32 6.36 3.807 23.939 4.514 23.700 
0.6 0.775 47.26 7.76 41.82 8.36 3.577 24.688 4.191 22.150 
0.55 0.742 60.51 9.68 53.13 10.5 3.522 23.010 4.020 21.161 
0.5 0.707 73.97 11.74 64.92 12.74 3.376 21.351 3.841 20.519 
0.45 0.671 88.01 13.96 77.26 15.05 3.355 20.519 3.801 18.444 
0.4 0.632 102.14 16.27 89.73 17.62 3.158 19.426 3.567 18.161 
0.35 0.592 117.15 18.71 103.02 20.23 2.985 18.735 3.410 18.588 
0.3 0.548 133.03 21.24 116.92 22.78 2.854 16.068 3.185 16.014 
0.25 0.500 149.64 24.19 131.8 25.74 2.630 16.233 2.977 14.320 
0.2 0.447 167.66 27.11 147.72 29.05 2.592 13.660 2.823 13.621 
0.15 0.387 185.95 30.58 164.51 32.53 2.319 13.058 2.726 12.216 
0.1 0.316 206.39 34.21 181.9 36.41 2.123 10.998 2.145 11.970 
0.05   228.72 38.52 204 40.37         

	��(������� 4.1 �.��
������� ��)������ *� ( h ) ��,�^�(�����(�����#+�
)����.� (F ) �,���+��
� K  )�����'�(V1, V2, V3, V4) 	�� ������� 4.2 $���*"��� 4.10, 4.11, 4.12 
-�
 4.13  
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y = 4.8562x

R2 = 0.9255

0.000

0.500

1.000

1.500

2.000

2.500

3.000

3.500

4.000

4.500

0.000 0.100 0.200 0.300 0.400 0.500 0.600 0.700 0.800 0.900 1.000

height(m
1/2

)

fl
o

w
 (

L
/m

in
)

 

�#$��� 4.10 ���D�
+�
����(�����#+�-�
������ ��)���
$����.��������� 1 

y = 30.413x

R2 = 0.9526
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�#$��� 4.11 ���D�
+�
����(�����#+�-�
������ ��)���
$����.��������� 2 
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y = 5.5008x

R2 = 0.9178
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�#$��� 4.12 ���D�
+�
����(�����#+�-�
������ ��)���
$����.��������� 3 

y = 28.827x

R2 = 0.9591
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�#$��� 4.13 ���D�
+�
����(�����#+�-�
������ ��)���
$����.��������� 4 

�
� ��"�
 ��o�p���#+�)�����'� (V1, V2, V3, V4)  �����+�#$�	���������
)�����D 	���*"��� 4.10, 4.11, 4.12, 4.13 !���	
#$��
���
���� 4.856, 30.413, 5.500 -�
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28.827 (���.�$�� �*&$��������� ��)���
������
��	.��,�
)����.� ( fG ) +��$����
�                  
-��A����
�� ( g ) -�
����+��-�
�)����.� ( ρ ) $�� ������� 4.4 -�
(������� 4.2 

g

G
KC

f

V ρ
=  (4.4) 

/������� 4.2 �������-�
�
� ��"�
 ��o�p���#+�)�����'� 1, 2, 3 -�
 4 

 
������� 

((L/(min* m )) 
�
� ��"�
 ��o�p���#+�)�����'�

(L/(min* Pa )) 

1VC  4.856 0.0490280 

2VC  30.413 0.3070308 

3VC  5.500 0.0555301 

4VC  28.827 0.2909775 

2.) �
� ��"�
 ��o�p���#+�)�����'�����%� (Control Valve 1, Control Valve 2) 

 �����+�#$�	�������$�
�	���)����(�����#+�)����.�B
�� Flow meter (
�
"����&����"{$ Control Valve (U) $��(�������4.3�,����.���&+��
� ��"�
 ��o�p����"{$ Control 
Valve A$����A"�-��� Matlab $��- $���(������� 4.4 -�
 4.5 

/������� 4.3 ��(�����#+�)����.�B
�� Flow meter (
�"����&����"{$ Control Valve (U) 

"����&����"{$ Control Valve ������1 ������2 ������3 ������4 
0 0 0.000221 0 0.000236 
0.2 7.99E-06 0.000219 1.13E-05 0.000234 
0.3 1.59E-05 0.000216 1.94E-05 0.000231 
0.4 2.69E-05 0.000213 2.92E-05 0.000227 
0.5 4.26E-05 0.000212 4.22E-05 0.000221 
0.6 6.31E-05 0.000208 6.16E-05 0.000214 
0.7 0.000102 0.000205 8.11E-05 0.000206 
0.8 0.000114 0.000204 0.000102 0.000197 
0.9 0.000126 0.000202 0.000109 0.000194 
1 0.000128 0.000202 0.000114 0.000194 
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/������� 4.4 �
� ��"�
 ��o�p����"{$ Control Valve1 (
���(�����#+�)����.� 

 u1
4 u1

3 u1
2 u1   

F2(m
3/s) -4.735E-06 4.898E-05 -6.285E-05 9.049E-08 2.208E-04 

F3(m
3/s) -5.106E-04 8.115E-04 -2.726E-04 8.430E-05 0 

/������� 4.5 �
� ��"�
 ��o�p����"{$ Control Valve2 (
���(�����#+�)����.� 

 u2
4 u2

3 u2
2 u2   

F1(m
3/s) -7.272E-04 1.120E-03 -3.344E-04 6.720E-05 0 

F4(m
3/s) 2.054E-04 -3.018E-04 6.867E-05 -1.388E-05 2.356E-04 

 

4.2 ��������6�����"��1��������� �� 

�� 
�����	
��
�������o���� ����-��	.��������&�R� (�'(Mathematic model) 
)����
�������
�� �����A$�������$%����� �� (Mass Balance) -�
����.��+��"C������ �� 
(Linearization) 

4.2.1 ���
!"��"��� 

 �������$%�A$�����#"	
���+�������
� ��(����� 
 ����
�	
��
������(��
����)���
�� ����(��������	���
�� �����(��������$)��� ����(����� *[+�� !�������&�
���$%���� ��	
#$�$�� ������� 4.5 

��(����� 
 �)����� = ���#+��)�� } ���#+���� + ���������$)��� } ������+��#" (4.5) 

A$���R�� ��(�~�� 

1)  ����+��-�
�)����.� ( ρ )����� 
2)  ,������+���(�$)�����-(
�
�������� 
3)  ������
�������	��-��A����
�����
������ 
4)  �����
��	.��,�
)����.���(�� 
5)  �
� ��"�
 ��o�p)�����#+�)�����'� 1VC , 2VC , 3VC , 4VC , ����� 
6)   ��"�
 ��o�p����"{$ Control Valve ���
������ 
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,�	��&��������%����1 

��(����� 
 �)����� 
dt

dh
A

dt

Vd 1

1

1)(
ρ

ρ
==  (4.6) 

����� 111 hAV =  -�
  1A , ρ ����� 

������#+��)����� 1 = ������#+�B
�� Control Valve2  

 = )( 24

2

23

3

22

4

21 uauauaua +++ρ  (4.7) 

����� a  ����
� ��"�
 ��o�p����"{$ Control Valve2 (
���(�����#+�)����.��)�����1 

������#+������� 1 = ������#+�B
�� CV1 

 = )( 1

1

f

V
G

gh
C

ρ
ρ  (4.8) 

���������$)���  = 0 (4.9) 

������+��#"  = 0 (4.10) 

-���
�	�� ������� 4.6 ��� 4.10 �� ������� 4.5	
#$� 

)( 1

124

2

23

3

22

4

21

1

1

f

V
G

gh
Cuauauaua

dt

dh
A

ρ
ρρ −+++=  (4.11) 

	�� ���� 4.11 	�$�*"�+�
	
#$� ���� 4.12 

f

V

G

gh

A

C
u

A

a
u

A

a
u

A

a
u

A

a

dt

dh 1

1

1

2

1

42

2

1

33

2

1

24

2

1

11 ρ
−+++=  (4.12) 

,�	��&��������%����2 

��(����� 
 �)����� 
dt

dh
A

dt

Vd 2

2

2 )(
ρ

ρ
==  (4.13) 

����� 222 hAV =  -�
  2A , ρ ����� 
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������#+��)����� 2 = ������#+�B
�� Control Valve1 + ������#+�B
�� CV1 

 = )( 1

1514

2

13

3

12

4

11

f

V
G

gh
Cbubububub

ρ
ρ +++++  (4.14) 

����� b  ����
� ��"�
 ��o�p����"{$ Control Valve1 (
���(�����#+�)����.��)�����2 

������#+������� 2 = ������#+�B
�� CV2 

 = )( 2

2

f

V
G

gh
C

ρ
ρ  (4.15) 

���������$)���  = 0 (4.16) 

������+��#"  = 0 (4.17) 

-���
�	�� ������� 4.13 ��� 4.17 �� ������� 4.5	
#$� 

)( 2

2

1

1514

2

13

3

12

4

11

2

2

f

V

f

V
G

gh
C

G

gh
Cbubububub

dt

dh
A

ρρ
ρρ −+++++=  (4.18) 

	�� ���� 4.18 	�$�*"�+�
	
#$� ���� 4.19 

f

V

f

V

G

gh

A

C

G

gh

A

C

A

b
u

A

b
u

A

b
u

A

b
u

A

b

dt

dh 2

2

21

2

1

2

5

1

2

42

1

2

33

1

2

24

1

2

12 ρρ
−+++++=  (4.19) 

,�	��&��������%����3 

��(����� 
 �)����� 
dt

dh
A

dt

Vd 3

3

3 )(
ρ

ρ
==  (4.20) 

����� 333 hAV =  -�
  3A , ρ ����� 

������#+��)����� 3 = ������#+�B
�� Control Valve1  

 = )( 14

2

13

3

12

4

11 ucucucuc +++ρ  (4.21) 

����� c  ����
� ��"�
 ��o�p����"{$ Control Valve1 (
���(�����#+�)����.��)�����3 
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������#+������� 3 = ������#+�B
�� CV3 

 = )( 3

3

f

V
G

gh
C

ρ
ρ  (4.22) 

���������$)���  = 0 (4.23) 

������+��#"  = 0 (4.24) 

-���
�	�� ������� 4.20 ��� 4.24 �� ������� 4.5	
#$� 

)( 3

314

2

13

3

12

4

11

3

3

f

V
G

gh
Cucucucuc

dt

dh
A

ρ
ρρ −+++=  (4.25) 

	�� ���� 4.25 	�$�*"�+�
	
#$� ���� 4.26 

f

V

G

gh

A

C
u

A

c
u

A

c
u

A

c
u

A

c

dt

dh 3

3

3

1

3

42

1

3

33

1

3

24

1

3

13 ρ
−+++=  (4.26) 

,�	��&��������%����4 

��(����� 
 �)����� 
dt

dh
A

dt

Vd 4

4

4 )(
ρ

ρ
==  (4.27) 

����� 444 hAV =  -�
  4A , ρ ����� 

������#+��)����� 4 = ������#+�B
�� Control Valve2 + ������#+�B
�� CV3 

 = )( 3

3524

2

23

3

22

4

21

f

V
G

gh
Cdudududud

ρ
ρ +++++  (4.28) 

����� d  ����
� ��"�
 ��o�p����"{$ Control Valve2 (
���(�����#+�)����.��)�����4 

������#+������� 4 = ������#+�B
�� CV4 

 = )( 4

4

f

V
G

gh
C

ρ
ρ  (4.29) 

���������$)���  = 0 (4.30) 
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������+��#"  = 0 (4.31) 

-���
�	�� ������� 4.27 ��� 4.31 �� ������� 4.5	
#$� 

)( 4

4

3

3524

2

23

3

22

4

21

4

4

f

V

f

V
G

gh
C

G

gh
Cdudududud

dt

dh
A

ρρ
ρρ −+++++=  (4.32) 

	�� ���� 4.32 	�$�*"�+�
	
#$� ���� 4.33 

f

V

f

V

G

gh

A

C

G

gh

A

C

A

d
u

A

d
u

A

d
u

A

d
u

A

d

dt

dh 4

4

23

4

3

4

5

2

4

42

2

4

33

2

4

24

2

4

14 ρρ
−+++++=  (4.33) 

/������� 4.6 �
�,������(��')������$����
�� �������� ���
��*
(�� 

4321 ,,, AAAA  0.016 m2 
1VC  0.0490280 

ρ  1000 kg/m3 
2VC  0.3070308 

1h  0.27 m 
3VC  0.0555301 

2h  0.30 m 
4VC  0.2909775 

3h  0.29 m 
1u  0.5 

4h  0.30 m 
2u  0.5 

g  9.81 m/s2   

fG  1   

����� ih  ���  ���� *�)����.��������� i (m.) 

iA  ���  ,������+���(�$)�������� i (m2) 

ρ  ���  ����+��-�
�)����.� (kg/m3) 

ViC  ���  �
� ��"�
 ��o�p���#+�)�����'� i 

g  ���  �
�-��A����
�� = 9.81m/s2 

fG  ���  �
������
��	.��,�
)����.� = 1 

iu  ���  "����&����"{$ Control Valve i 
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ih  ���  ���� *�)����.������� i ��� ���
��*
(�� 

iu  ���  "����&����"{$ Control Valve i ��� ���
��*
(�� 

)���)()��(��-"�"��� (--)              :   1,0 21 ≤≤ uu  
)���)()��(��-"�����%� (m)         :  8.0,,,0 4321 ≤≤ hhhh  

4.2.2 �������7�
$8�
���
��� (Linearization) 

	�� ������� 4.12, 4.19, 4.26 -�
 4.33 	
,��
� ���������
����#�
�"C������ ��
$������ 	��(��������%������'����'$�� ������� 4.34 �,���-"���+��"C������ ��-�
	�$�*"�+��"C� state 
space model $�� ������� 4.35 
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 (4.35) 

A$���� 
11

1

11
2 hG

g

A

C

f

V ρ
α −=  

012 =α  

013 =α  

014 =α  

011 =β  
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2 hG
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V ρ
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V ρ
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022 =β  
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032 =α  
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2 hG

g

A

C

f

V ρ
α −=  
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44

4

44
2 hG

g

A

C

f

V ρ
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A

d
u

A

d
u

A

d
+++=β  

 
-�
-���
�	��(������� 4.6 	
#$�-��	.��������&�R� (�'���*" state space 

model $�� ������� 4.36 









′

′



















+



















′

′

′

′



















=



























′

′

′

′

2

1

4

3

2

1

4

3

2

1

0.0043-0

00.0104

00.0018-

0.01320

0.0282-0.005300

00.0053-00

000.0308-0.0047

0000.0047-

u

u

h

h

h

h

dt

hd
dt

hd
dt

hd
dt

hd

 (4.36) 

����� ih  ���  ���� *�)����.������� i ��� ���
��*
(�� 

iu  ���  "����&����"{$ Control Valve i ��� ���
��*
(�� 

111 hhh −=′  

222 hhh −=′  

333 hhh −=′  

444 hhh −=′  

111
uuu −=′  

222
uuu −=′  

4.3 ����������
"��������� �� 

���R��c�B��������%��������	����� #$��.����R��c� �����
)��(������%�
!������-��	.����������.����-�
(������%�-��,�#�$� A$��.��������%�$�������"�����-"��
�
��"L�+��� (Setpoint change) A$�-�
�+��)��)����&�R��c�$��(
�#"���  
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1)  ��&��������%��
$��)��)���+���������� 1 ��������� 3 
2)  ��&��������%��
$��)��)���+���������� 2 ��������� 4 
3)  ��&��������%��
$��)��)���+���������� 1 ��������� 3 ���������+�
�� 
4)  ��&��������%��
$��)��)���+���������� 2 ��������� 4 ���������+�
�� 

������$�������%���
������	�������o�)���(��$��(
�#"��� 
1)  "������'�����%�(����� 1 -�
(����� 2 �+���*
��� 50% ��	���
������
������

�)�� *
 ���
��*
(�� ������� *�)����.������� 1-�
������ 3 ���
���*
��� 0.3 ��(� -�
���� *�)����.���
������ 2 -�
������ 4 ���
���*
��� 0.25 ��(� 

2)  �.��������%��
$��)��)���+��$���(������%�!������-��	.���������
�.����-�
(������%�-��,�#�$��+���*
����
��"L�+���A$��
��"L�+��� .�+��������� 1-�
������ 3 ��
�
���
���� 50 �!�(���(� -�
)�������� 2�
������ 4 ���
���
���� 30 �!�(���(�$���A"�-��� matlab 

3.)  �.������̂�)���*��
$��)��)���+��-�
���(�� ���)�����'�����%��%� 
1 ������ ��-(
�
��&�R��c� 	������ ��(������%� 

4.)  �.���&+��
�B����)���������$������� ���*�&' (Integral of the 
absolute value of error, IAE) $�� ������� 4.37 

dtte∫
∞

=
0

)(IAE  (4.37) 

����� )(te  ��� �
��������$������� (error) 

dt  ��� B�(
��)�����������̂�)���*� 
5)  �.����"���-(
��
�,������(��')��(������%��+��+��
 �����������%� 

A$��+��
�)�� IAE ���
�������� %$ 
6)  �"��������� �����
)��(������%���-(
�
��&�R��c� A$�,�	��&�	��

�
� IAE  
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4.4 /������!� 

4.4.1 /������!�6��4�D�
� 

(������%�-��,�#�$��������������	��#$�����v,�
A+�$,�-�
#���������,��
������
A+�$$�	
�"C����)��� �[[�&������.��+��������%�#�
� ���� (������%�-��,�#������
�$���	
�"C�#"$�� ������� 4.38 

∫++= dtte
K

teKutu
I

c

c )()()(
τ

 (4.38) 

����� )(tu  ���  "����&����"{$ Control Valve 

u  ���  "����&����"{$ Control Valve ��� ���
��*
(�� 

cK  ���  ��(�����)���(������%� (Controller Gain) 

Iτ  ���  ����"��,��o' (Integral Time)  

)(te  ���  �
��������$�������)���
$����.�	���
��"L�+��� 

��o����"���(������%������(��������$���#$������o�-���*"�"{$)�� Marlin and 
Ciancone ���)�����*
���,������(��'�$���!���������
� ��(�� 
������+�
�� (Fraction dead time) 
��(�� 
������+�
��	
���
���*
�
+�
�� 0.0 ��� 1.0 -�
#$�	������.���&	��DP��'����
��A��
�.�$��+�������������+�
�� (first-order-with-dead-time transfer function) !�����(�� 
������+�
��
	
- $���� �$ 
��)����������+�$������ .�+������(�� ���-���*"�"{$�,����+�����
� 63.2% 
)���
� %$�������������������+�
�� �����+��
�,������(��'����%�,�#�$�A$�������� ��,��o' 
Ciancone  �����-�
��"C� ��)���(��#$�$����� 

1) 	��-��	.����DP��'����
��A���.�$��+�������������+�
�� ������.���&+�
�
���(�� 
������+�
�� )/( τθθ + #$�	�� ���� 4.39 -�
 4.40 

)(5.1 %3.28%2.63 tt −=τ  (4.39) 

τθ −= %2.63t  (4.40) 
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����� %2.63t  ��� ���������������(�� ����,����+�����
� 63.2% )���
� %$���� 

%3.28t  ��� ���������������(�� ����,����+�����
� 28.3% )���
� %$���� 

2) �
���
�#��+�
�� pc KK , )/( τθτ +I  	���*"��� 4.14 

 

�#$��� 4.14 ���� ��,��o' Ciancone ������"���(������%�,�#�$� ���*"#��+�
�� [21] 

3) �.���&+��
�,������(��' cK -�
 Iτ  	���
� pc KK , )/( τθτ +I ����
��#$�
	������ ��,��o'��)���(����� ��-�
 ������� 4.41 -�
 4.42 ������.���& 

( )
p

pc

c
K

KK
K =  (4.41) 

( )τθ
τθ

τ
τ +








+

= I

I  (4.42) 

�������	��������������#)�����"���(������%�-��,�#�$���� ,�	��&�B����
�"�����-"���
�(��-"�"���("����&����"{$ Control Valve) (���#�
���� 10%-�
 �����
����%���
�������+��)�� *
�
��"L�+���#$�A$�#�
�����-��
�)��(��-"�����%� 

4.4.2 ����
��� (Relative Gain Array, RGA) 

RGA �"C���������������*�������������%���
���+���(��-"� ��*
��+������
)�����������������%��*"�$�������������%�+���(��-"� ���	
- $����*"-�����'���')��
��(�� 
��,�(������*"�$����
+�
��(��-"����,%�-�
����',%�+�����*
��������,�(�����)��     
(��-"����,%�-�
����',%��*
�$����������(��������%�+���(��-"��%$��(� !�����)���(��$��(
�#"��� 
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1)  �.���&+� Gain Matrix $�� ������� 4.43 

GUH =  (4.43) 

����� H  ���  ����(��'���� *�)����.���� ���
��*
(�� 

U  ���  ����(��'"����&����"{$ Control Valve ��� ���
��*
(�� 

G  ���  Gain Matrix 

A$�	�� ������� 4.36  �����	�$�*"�+�
#$�$�� ������� 4.44, 4.45, 4.46, 4.47 

21211

1 uh
dt

hd
′+′−=

′
βδ  (4.44) 

1212211

2 uhh
dt

hd
′+′−′=

′
βδδ  (4.45) 

13133

3 uh
dt

hd
′+′−=

′
βδ  (4.46) 

2124433

4 uhh
dt

hd
′+′−′=

′
βδδ  (4.47) 

����� 
21111 ααδ =−=  

222 αδ −=  

43333
ααδ =−=  

444 αδ −=  

,�	��&��������%����1 

	�� ������� 4.44 �.������������(	��������
����R*��' ��������$k�,���+�
���� *�)����.�	��"����&����"{$ Control Valve $��- $��� ������� 4.48, 4.49 -�
 4.50 

( )
212

1 1

1

ue
dt

hed t
t

′=
′

βδ
δ

 (4.48) 

( ) ( )
1

212

1

212
11

11 0
δ
β

δ
βδδ uu

ehthe
tt ′

−
′

=′−′  (4.49) 

( ) ( ) ( ) tt
ehe

u
th 11 01 1

1

212
1

δδ

δ
β −− ′+−

′
=′  (4.50) 
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	�� ������� 4.50 -��������
��������('�,���+����� *�)����.�	��"����&���
�"{$ Control Valve ��� ���
��*
(��$��- $��� ������� 4.51 -�
 4.52 

( ) ( ) ( ) 0*001 1

1

212
1 h

u
h ′+−

′
=∞′

δ
β  (4.51) 

( )
1

212

1 δ
β u

h
′

=∞′  (4.52) 

,�	��&��������%����2 

	�� ������� 4.45 �.������������(	��������
����R*��' ��������$k�,���+�
���� *�)����.�	��"����&����"{$ Control Valve $��- $��� ������� 4.53, 4.54 -�
 4.55 

( ) ( )
12111

2 2

2

uhe
dt

hed t
t

′+′=
′

βδδ
δ

 (4.53) 

( ) ( ) ( ) ( )
2

12111

2

12111
22

22 0
δ
βδ

δ
βδδδ uhuh

ehthe
tt ′+′

−
′+′

=′−′  (4.54) 

( ) ( ) ( ) ( ) tt
ehe

uh
th 22 01 2

2

12111
2

δδ

δ
βδ −− ′+−

′+′
=′  (4.55) 

	�� ������� 4.55 -��������
��������('�,���+����� *�)����.�	��"����&���
�"{$ Control Valve ��� ���
��*
(��$��- $��� ������� 4.56 -�
 4.57 

( ) ( ) ( ) ( ) 0*001 2

2

12111
2 h

uh
h ′+−

′+′
=∞′

δ
βδ  (4.56) 

( ) ( )
2

12111
2 δ

βδ uh
h

′+′
=∞′  (4.57) 

-���
�	�� ������� 4.52 �� ������� 4.57 

( ) ( )
2

121212
2 δ

ββ uu
h

′+′
=∞′  (4.58) 

,�	��&��������%����3 

	�� ������� 4.46 �.������������(	��������
����R*��' ��������$k�,���+�
���� *�)����.�	��"����&����"{$ Control Valve $��- $��� ������� 4.59, 4.60 -�
 4.61 
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( )
131

3 3

3

ue
dt

hed t
t

′=
′

βδ
δ

 (4.59) 

( ) ( )
3

131

3

131
33

33 0
δ
β

δ
βδδ uu

ehthe
tt ′

−
′

=′−′  (4.60) 

( ) ( ) ( ) tt
ehe

u
th 32 01 3

3

131
3

δδ

δ
β −− ′+−

′
=′  (4.61) 

	�� ������� 4.61 -��������
��������('�,���+����� *�)����.�	��"����& 
����"{$ Control Valve ��� ���
��*
(��$��- $��� ������� 4.62 -�
 4.63 

( ) ( ) ( ) 0*001 3

3

131
3 h

u
h ′+−

′
=∞′
δ
β  (4.62) 

( )
3

131

3 δ
β u

h
′

=∞′  (4.63) 

,�	��&��������%����4 

	�� ������� 4.47 �.������������(	��������
����R*��' ��������$k�,���+�
���� *�)����.�	��"����&����"{$ Control Valve $��- $��� ������� 4.64, 4.65 -�
 4.66 

( ) ( )
24233

4 4

4

uhe
dt

hed t
t

′+′=
′

βδδ
δ

 (4.64) 

( ) ( ) ( ) ( )
4

24233

4

24233
44

44 0
δ
βδ

δ
βδδδ uhuh

ehthe
tt ′+′

−
′+′

=′−′  (4.65) 

( ) ( ) ( ) ( ) tt
ehe

uh
th 44 01 4

4

24233
4

δδ

δ
βδ −− ′+−

′+′
=′  (4.66) 

	�� ������� 4.60 -��������
��������('�,���+����� *�)����.�	��"����& 
����"{$ Control Valve ��� ���
��*
(��$��- $��� ������� 4.67 -�
 4.68 

( ) ( ) ( ) ( ) 0*001 4

4

24233
4 h

uh
h ′+−

′+′
=∞′

δ
βδ  (4.67) 

( ) ( )
4

24233
4 δ

βδ uh
h

′+′
=∞′  (4.68) 

-���
�	�� ������� 4.63 �� ������� 4.68 
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( ) ( )
4

242131

4 δ
ββ uu

h
′+′

=∞′  (4.69) 

	�� ������� 4.52, 4.58, 4.63, 4.69  �����	�$�*"#$�$�� ������� 4.70 









′

′





























=



















′

′

′

′

2

1

4

42

4

31

3

31

2

12

2

21

1

12

4

3

2

1

0

0

u

u

h

h

h

h

δ
β

δ
β
δ
β

δ
β

δ
β

δ
β

 (4.70) 

-���
� δβ ,  	�� ������� 4.36 ���� ������� 4.70 #$�$�� ������� 4.71 









′

′



















−

−
=



















′

′

′

′

2

1

4

3

2

1

1543.03702.0

09727.1

4296.00582.0

8359.20

u

u

h

h

h

h

 (4.71) 

2)  �.���&+� Relative Gain Array �,��������(��-"�"��� .�+����������%�
��
�������*"�$��� 

-  ��&��������%��
$��)��)���+���������� 1 ��������� 3 

	�� ������� 4.71 ��������� *�)����.������� 1 -�
 ������ 3 �"C�(��-"�����%�
�,����.�+�$ Gain Matrix 









′

′








=







′

′

2

1

3

1

09727.1

8359.20

u

u

h

h  (4.72) 

�.���&+� Relative Gain Array 	�� ������� 4.72  









=Λ

01

10  (4.73) 

	�� ������� 4.73  ����� �%"#$��
���&��������%��
$��)��)���+���������� 1 
��������� 3 +��(����������%��
$����.��������� 1 �+�"���"����&����"{$ Control Valve 2 -�
 
+��(����������%��
$����.��������� 3 �+�"���"����&����"{$ Control Valve 1 
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-  ��&��������%��
$��)��)���+���������� 2 ��������� 4 

	�� ������� 4.71 ��������� *�)����.������� 2 -�
 ������ 4 �"C�(��-"�����%�
�,����.�+�$ Gain Matrix 









′

′









−

−
=







′

′

2

1

4

2

1543.03702.0

4296.00582.0

u

u

h

h  (4.74) 

�.���&+� Relative Gain Array 	�� ������� 4.74 










−

−
=Λ

0599.00599.1

0599.10599.0  (4.75) 

	�� ������� 4.75  ����� �%"#$��
���&��������%��
$��)��)���+���������� 2 
��������� 4 +��(����������%��
$����.��������� 2 �+�"���"����&����"{$ Control Valve 2 -�
 
+��(����������%��
$����.��������� 4 �+�"���"����&����"{$ Control Valve 1 

4.4.3 /������!�LM�����6�����"������������� 

 
��"�
���)��(������%�!������-��	.����������.����������$������
"�
���#"$��� 

1)  -��	.��������&�(R� (�' (Math Model) !���A$�����#"(������%�!������
-��	.����������.����(�����R��-��	.��������&�R� (�')����
���������������%� 
A$��������	�����#$����-��	.�������,����)�����+��)��4.2 









′

′



















+



















′

′

′

′



















=



























′

′

′

′

2

1

4

3

2

1

4

3

2

1

0.0043-0

00.0104

00.0018-

0.01320

0.0282-0.005300

00.0053-00

000.0308-0.0047

0000.0047-

u

u

h

h

h

h

dt

hd
dt

hd
dt

hd
dt

hd

 (4.36) 

����� ih  ���  ���� *�)����.������� i ��� ���
��*
(�� (m.) 

iu  ���  "����&����"{$ Control Valve i ��� ���
��*
(�� 

111 hhh −=′  

222 hhh −=′  
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333 hhh −=′  

444 hhh −=′  
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uuu −=′  

222
uuu −=′  

2)  )���)()����
������ (Constraint function) 

8.00
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<< h  

10
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<< u  

1.00
2,1
<∆< u  

3)  DP��'�����(�%"�
 ��' (Objective Function) 
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�#"��� 

1)  �.�+�$"P		���
����.�+����,����+�#$�B�(�� ������(������ "P		���
����.�+���
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��"C���� �
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2)  ��������� %$������� �+��
 � (	.����(��-"�����%�) (Prediction 
Horizon,P) 

+��������������� %$����  ��� ��������� %$�����+������
�����)��A,��*"�"{$
�,������"�
���� ������,)����
������  ��
��#��̂(�� ���������� %$����������
�#$�  �������  
(���(��	 ���
�(��-"�����%� ������)�� *
�
��"L�+���#$������������������#�� 

3)  �.�+�$	.����(��-"�"��� (Control Horizon, M) 
"�(�	
�.�+�$	.����(��-"�"����+�������
�	.����(��-"�����%��,����$����

��"(�#�!'  �������	.����(��-"�"�������+��
 �	
(����+� �����
�������%����$�-�
�������
�.���& �����
������������%����(������	��	
 ������.�(��-"�"������#$�#"�������%�
��
������ A$�-�����)�����"���-(
�(������%� ��� �.����"�����
�������+����
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������� %$ -�
�.�����������#�
���%�-��)������"�����-"��(��-"�"��� 
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� Matlab 

�.1 ���	
��
���������
���������������� 

%% Open Signal 

% CV 

format bank 

ai=analoginput('nidaq','Dev1'); 

addchannel(ai,0:3); 

% MV 

ao=analogoutput('nidaq','Dev1'); 

addchannel(ao,0:1); 

 

%% Set Parameter 

sp=[50 50];                 %metre 

Kc=[0.45 0.45];             %From ciancone 

Ti=[200 200];   

final = 1000;              %final time (step) 

delay = 0;                  %delayed time (sec) 

ct = 10;                    %controlling time (sec/time) 

cl = ceil(final/ct);        %controlling amuount (time) 

st = 1;                     %sampling time (sec/time) 

sl = ceil(final/st);        %sampling amuount (time) 

c= [16.51 -28.61 

    19.38 -23.01 

    20.3  -18.25 

    23.29 2.734]; 

 

%% Set blank variables 

%i = zeros(1,1);            %counter variable 

%j = zeros(1,1);            %counter variable 
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k = 1;                      %counter variable 

l = 0;                      %counter variable 

m = 1;                      %counter variable 

n = 1;                      %counter variable 

psp = zeros(0,1); 

p = zeros(0,4);            %actual tank height matrix 

q = zeros(0,2);             %calculated MV matrix 

r = zeros(0,2);             %actioned MV matrix 

s = zeros(0,2);             %actual actioned MV matrix {with process delay} 

t = zeros(0,1);             %time domain 

 

%% %Store variables at t=0 

sum = zeros(1,2); 

e = zeros(1,2); 

uss =[50 50];   

MVss=(uss*4/100)+1 

putsample(ao,MVss); 

disp('Waiting for a while.'); 

pause(1); 

for l=1:5 

    temp = getsample(ai); 

    height(l,1) = c(1,1)*temp(1)+c(1,2); 

    height(l,2) = c(2,1)*temp(2)+c(2,2); 

    height(l,3) = c(3,1)*temp(3)+c(3,2); 

    height(l,4) = c(4,1)*temp(4)+c(4,2); 

end 

temp=height(4,:) 

height=median(height) 

psp(1,1)=sp(1); 

p(1,:)=height; 

q(1,:)=uss; 
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r(1,:)=uss; 

s(1,:)=uss; 

t(1)=0 ; 

%% Run lab 

for k = 1:final 

    k 

    %#Measure Tank height 

    for l=1:5 

        temp = getsample(ai); 

        height(l,1) = c(1,1)*temp(1)+c(1,2); 

        height(l,2) = c(2,1)*temp(2)+c(2,2); 

        height(l,3) = c(3,1)*temp(3)+c(3,2); 

        height(l,4) = c(4,1)*temp(4)+c(4,2); 

    end 

    height=median(height) 

    for m=1:4 

        if abs(p(k,m)-height(1,m))>1 

            for l=1:5 

                temp = getsample(ai); 

                height(l,m) = c(m,1)*temp(m)+c(m,2); 

            end 

            height(1,m)=median(height(:,m)) 

            height=height(1,:); 

        end 

    end 

    p(k+1,:)=height;                                %Store CV 

    %#Measure Tank height {end} 

    psp(k+1,1)=sp(1); 

     

    %# Calculated MV 

    e = [sp(1)-height(1) sp(2)-height(3)];              %control tank1 and tank3 
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    sum = sum + e; 

    u(1)=uss(1)+ Kc(1)*e(2) + sum(2)*Kc(1)/Ti(1);   %ctrl valve1 effect for tank3 

    u(2)=uss(2)+ Kc(2)*e(1) + sum(1)*Kc(2)/Ti(2);   %ctrl valve2 effect for tank1 

    for m=1:2 

        if (u(m)>100) 

            u(m)=100; 

        elseif (u(m)<0) 

            u(m)=0; 

        end 

    end 

    q(k+1,:)=u;                                     %Store calculated MV 

    if rem(k-1,ct)<0.02 

        r(k+1,:)=u;                                 %Log actioned MV 

    else r(k+1,:)=r(k,:);                           %Log actioned MV 

    end 

    d = k-delay;                                    %Cal Delayed time 

    if (d<0) 

        d=0; 

    else ; 

    end 

    u=r(d+1,:)                                     %Get MV 

    s(k+1,:)=r(d+1,:);                              %Log actual actioned MV 

    if rem(d-1,ct)<0.02 

        MVss=(u*4/100)+1 

        putsample(ao,MVss);                           %Actioned MV 

    else 

    end 

    if height(1)>70 

        MV(2)=1; 

        putsample(ao,MV); 

        pause(100); 
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    end 

    if height(3)>70 

        MV(1)=1; 

        putsample(ao,MV); 

        pause(100); 

    end 

    t(k+1,1)=k; 

    subplot(2,1,1); 

    plot(t,p,t,psp) 

    legend('Tank1','Tank2','Tank3','Tank4','sp',-1) 

    title('This is the graph plot between tank height against time') 

    xlabel('Time') 

    ylabel('Tank height') 

    subplot(2,1,2); 

    plot(t,r) 

    legend('MV1','MV2',-1) 

    title('This is the graph plot between %opening valve against time') 

    xlabel('Time') 

    ylabel('%Opening valve') 

    pause(1); 

end 

save PI_1&3 

MVss=[3 3]; 

putsample(ao,MVss); 

�.2 ���	
��
���������
�������ab��cde���f��g��ch
��i��h�j 

%% Open Signal 

% CV 

format bank 

ai=analoginput('nidaq','Dev1'); 

addchannel(ai,0:3); 
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% MV 

ao=analogoutput('nidaq','Dev1'); 

addchannel(ao,0:1); 

 

%% Set Parameter 

% Get plant, internal, and reference models in state-space form. 

A= [-0.00466520 0           0   0; 

    0.00466520 -0.03079546 0   0; 

   0             0           -0.00528390 0; 

   0             0           0.00528390 -0.02816094]; 

B = [ 0             0.01323009; 

   -0.00179263 0; 

    0.01042381 0; 

    0             -0.00434592]; 

 

C = [1 0 0 0; 0 0 1 0]; 

D = [0 0;0 0]; 

% Prevent overflow 

Tank = [1 3]; 

Valve = [2 1]; 

p = 40;     %controller parameter 

blocks = 2; %M = ...; no need because M = blocks 

T = 10;      %sampling  time 

 

%weighting 

ywt = [1 1.5]; 

uwt = [1 1]; 

setpts = [0.50 0.50]; 

ulim = [0 0 1 1 0.1 0.1]; 

ylim = [0 0 0.8 0.8]; 

nargin = 10; 
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%% Check MPC argument 

%Continuous  to  Discrete  state  space 

[phi,gam] = c2dmp(A,B,T); 

minfo = [T,4,2,0,0,2,0]; 

%minfo(1) = dt, the sampling period. 

%     (2) = n, the system order (dimension of "a"). 

%     (3) = nu, the number of manipulated inputs. 

%     (4) = nd, the number of measured disturbances. 

%     (5) = nw, the number of unmeasured disturbances. 

%     (6) = nym, the number of measured outputs. 

%     (7) = nyu, the number of unmeasured outputs. 

 

%From: scmpc.m or scmpcr.m 

imod = ss2mod(phi,gam,C,D,minfo); 

[phii,gami,ci,di,minfoi] = mod2ss(imod); 

ni  = minfoi(2); 

nui = minfoi(3); 

nvi = minfoi(4); 

mi  = nui+nvi; 

nwi = minfo(5); 

nymi= minfoi(6); 

nyui= minfoi(7); 

nyi = nymi+nyui; 

 

% Check for errors and inconsistencies in the models. 

 

if isempty(p) 

   p=1; 

elseif p < 1 

   error('Specified prediction horizon is less than 1') 

end 



 

 
140 

 

if isempty(ywt) 

   ywt=ones(1,nyi); 

   nywt=1; 

else 

   [nywt,ncol]=size(ywt); 

   if ncol ~= nyi | nywt <= 0 

      error('YWT is wrong size') 

   end 

   if any(any(ywt < 0)) 

      error('One or more elements of YWT are negative') 

   end 

end 

 

if isempty(uwt), 

   uwt=zeros(1,nui); 

   nuwt=1; 

else 

   [nuwt,ncol]=size(uwt); 

   if ncol ~= nui | nuwt <= 0 

      error('UWT is wrong size') 

   end 

   if any(any(uwt < 0)) 

      error('UWT is negative') 

   end 

end 

 

if isempty(setpts) 

   nset=1; 

   setpts=zeros(1,nyi); 

else 
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   [nset,ncol]=size(setpts); 

   if ncol ~= nyi 

      error('Setpoint input matrix has incorrect dimensions') 

   end 

end 

 

if isempty(blocks) 

   blocks=ones(1,p); 

   nb=p; 

else 

   [nrow,nb]=size(blocks); 

   if nrow ~= 1 | nb < 1 | nb > p 

      error('M vector is wrong size') 

   end 

   if any(blocks < 1) 

      error('M contains an element that is < 1') 

   end 

 

   if nb == 1 

%  This section interprets "blocks" as a number of moves, each 

%  of one sampling period duration. 

 

      if blocks > p 

         disp('WARNING: M > P.  Truncated.') 

         nb=p; 

      elseif blocks <= 0 

         disp('WARNING: M <= 0.  Set = 1.') 

         nb=1; 

      else 

         nb=blocks; 

      end 
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      blocks=[ones(1,nb-1) p-nb+1]; 

 

   else 

 

% This section interprets "blocks" as a vector of blocking factors. 

 

      sumblocks=sum(blocks); 

      if sumblocks > p 

               disp('WARNING:  sum(M) > P.') 

               disp('          Moves will be truncated at P.') 

               nb=find(cumsum(blocks) > p); 

               nb=nb(1); 

               blocks=blocks(1,1:nb); 

      elseif sumblocks < p 

         nb=nb+1; 

         blocks(nb)=p-sumblocks; 

         disp('WARNING:  sum(M) < P.  Will extend to P.') 

      end 

   end 

end 

 

% Check the constraint specifications.  First set up some indices to pick out 

% certain columns of the ulim and ylim matrices. 

 

iumin=[1:nui];     % Points to columns of ulim containing umin. 

iumax=iumin+nui;   % Points to columns of ulim containing umax. 

idumax=iumax+nui;  % Points to columns of ulim containing delta u max. 

iymin=[1:nyi];     % Points to columns of ylim containing ymin. 

iymax=iymin+nyi;   % Points to columns of ylim containing ymax. 

 

% Now check the values supplied by the user for consistency. 
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if nargin > 8 

 if isempty(ulim) 

  ulim=[-inf*ones(1,nui)  inf*ones(1,nui)  1e6*ones(1,nui)]; 

 else 

  [nulim,ncol]=size(ulim); 

  if ncol ~= 3*nui | nulim <= 0 

     error('ULIM matrix is empty or wrong size.') 

  elseif any(any(ulim(:,idumax) < 0)) 

     error('A constraint on DELTA U was < 0') 

  elseif any(any(ulim(:,iumax)-ulim(:,iumin) < 0)) 

     error('A lower bound on U was greater than its upper bound') 

      end 

 end 

else 

 ulim=[-inf*ones(1,nui)  inf*ones(1,nui)  1e6*ones(1,nui)]; 

end 

 

% When using the DANTZGMP routine for the QP problem, we must have all 

% bounds on delta u finite.  A bound that is finite but large can cause 

% numerical problems.  Similarly, it can't be too small. 

% The following loop checks for this. 

 

ichk=0; 

for i=idumax 

   ifound=find(ulim(:,i) > 1e6); 

   if ~ isempty(ifound) 

      ichk=1; 

      ulim(ifound,i)=1e6*ones(length(ifound),1); 

   end 

   ifound=find(ulim(:,i) < 1e-6); 
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   if ~ isempty(ifound) 

      ichk=1; 

      ulim(ifound,i)=1e-6*ones(length(ifound),1); 

   end 

end 

if ichk 

   disp('One or more constraints on delta_u were > 1e6 or < 1e-6.') 

   disp('Modified to prevent numerical problems in QP.') 

end 

 

if nargin > 9 

   if isempty(ylim) 

      ylim=[-inf*ones(1,nyi) inf*ones(1,nyi)]; 

   else 

      [nylim,ncol]=size(ylim); 

      if ncol ~= 2*nyi | nylim <= 0 

         error('YLIM matrix is wrong size') 

      elseif any(any(ylim(:,iymax)-ylim(:,iymin) < 0)) 

         error('A lower bound on y was greater than its upper bound') 

      end 

   end 

else 

   ylim=[-inf*ones(1,nyi) inf*ones(1,nyi)]; 

end 

 

if nargin > 10 

   if isempty(Kest) 

      Kest=[zeros(ni,nymi) 

                eye(nymi) 

           zeros(nyui,nymi)]; 

   else 
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      [nrow,ncol]=size(Kest); 

      if nrow ~= ni+nyi | ncol ~= nymi 

         error('Estimator gain matrix is wrong size') 

      end 

   end 

else 

   Kest=[zeros(ni,nymi) 

            eye(nymi) 

         zeros(nyui,nymi)]; 

end 

 

% ++++ Beginning of controller design calculations. ++++ 

 

% The following index vectors are used to pick out certain columns 

% or rows in the state-space matrices. 

 

iu=[1:nui];         % columns of gami, gamp, di, dp related to delta u. 

iv=[nui+1:nui+nvi];  % points to columns for meas. dist. in gamma. 

iym=[1:nymi];       % index of the measured outputs. 

 

% +++ Augment the internal model state with the outputs. 

 

[PHI,GAM,C,D,N]=mpcaugss(phii,gami,ci,di); 

 

% +++ Calculate the basic projection matrices +++ 

 

pny=nyi*p;          % Total # of rows in the final projection matrices. 

mnu=nb*nui;             % Total number of columns in final Su matrix. 

 

Cphi=C*PHI; 

Sx=[      Cphi 
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    zeros(pny-nyi,N)]; 

Su=[    C*GAM(:,iu) 

    zeros(pny-nyi,nui)]; 

if nvi > 0 

   Sv0=[ C*GAM(:,iv) 

        zeros(pny-nyi,nvi)    ]; 

else 

   Sv0=[]; 

end 

 

r1=nyi+1; 

r2=2*nyi; 

for i=2:p 

   if nvi > 0 

      Sv0(r1:r2,:)=Cphi*GAM(:,iv); 

   end 

   Su(r1:r2,:)=Cphi*GAM(:,iu); 

   Cphi=Cphi*PHI; 

   Sx(r1:r2,:)=Cphi; 

   r1=r1+nyi; 

   r2=r2+nyi; 

end 

 

Sdel=eye(nui); % Sdel is to be a block-lower-triangular matrix in which each 

               % block is an identity matrix.  Used in constraint definition. 

eyep=eye(nyi); % eyep is a matrix containing P identity matrices (dimension nyi) 

               % stacked one on top of the other. 

for i=2:p 

   eyep=[eyep;eye(nyi)]; 

end 

for i=2:nb 
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   Sdel=[Sdel;eye(nui)]; 

end 

 

% If number of moves > 1, fill the remaining columns of Su and Sdel, 

% doing "blocking" at the same time. 

 

if nb > 1 

   k = nui; 

   blocks=cumsum(blocks); 

   for i = 2:nb 

      row0=blocks(i-1)*nyi; 

      row1=(i-1)*nui; 

      Su(row0+1:pny,k+1:k+nui)=Su(1:pny-row0,1:nui); 

      Sdel(row1+1:mnu,k+1:k+nui)=Sdel(1:mnu-row1,1:nui); 

      k=k+nui; 

   end 

end 

 

% Set up weighting matrix on outputs.  Q is a column vector 

% containing the diagonal elements of the weighting matrix, SQUARED. 

 

irow=0; 

for i=1:p 

   Q(irow+1:irow+nyi,1)=ywt(min(i,nywt),:)'; 

   irow=irow+nyi; 

end 

Q=Q.*Q; 

 

% Set up weighting matrix on manipulated variables.  R 

% is a column vector containing the diagonal elements, SQUARED. 
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uwt=uwt+10*sqrt(eps);  %for numerical stability 

irow=0; 

for i=1:nb 

   R(irow+1:irow+nui,1)=uwt(min(i,nuwt),:)'; 

   irow=irow+nui; 

end 

R=R.*R; 

 

% Usually, some of the general inequality constraints are not used. 

% This section sets up index vectors for each type of constraint to 

% pick out the ones that are actually needed for the problem.  This 

% helps to minimize the size of the QP. 

 

% First set up column vectors containing the bounds for each type of 

% constraint over the entire prediction horizon.  For the inputs, the 

% resulting vectors must be length mnu.  For outputs, length is pny. 

 

umin=ulim(:,iumin)'; 

umin=umin(:);         % Stetches the matrix out into one long column 

umax=ulim(:,iumax)'; 

umax=umax(:); 

dumax=ulim(:,idumax)'; 

dumax=dumax(:); 

ymin=ylim(:,iymin)'; 

ymin=ymin(:); 

ymax=ylim(:,iymax)'; 

ymax=ymax(:); 

clear ulim ylim       % Releases memory no longer needed. 

 

lenu=length(umin); 

if lenu > mnu         % Has user specified more bounds than necessary? 
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   disp('WARNING:  too many rows in ULIM matrix.') 

   disp('          Extra rows deleted.') 

   umin=umin(1:mnu); 

   umax=umax(1:mnu); 

   dumax=dumax(1:mnu); 

elseif lenu < mnu     % If fewer rows than needed, must copy last one. 

   r2=[lenu-nui+1:lenu]; 

   for i=1:round((mnu-lenu)/nui) 

      umin=[umin;umin(r2,:)]; 

      umax=[umax;umax(r2,:)]; 

      dumax=[dumax;dumax(r2,:)]; 

   end 

end 

 

leny=length(ymin); 

if leny > pny         % Has user specified more bounds than necessary? 

   disp('WARNING:  too many rows in YLIM matrix.') 

   disp('          Extra rows deleted.') 

   ymin=ymin(1:pny); 

   ymax=ymax(1:pny); 

elseif leny < pny     % If fewer rows than needed, must copy last one. 

   r2=[leny-nyi+1:leny]; 

   for i=1:round((pny-leny)/nyi) 

      ymin=[ymin;ymin(r2,:)]; 

      ymax=[ymax;ymax(r2,:)]; 

   end 

end 

 

% The bounds on delta u must always be included in the problem.  The 

% other bounds should only be included as constraints if they're finite. 

% Generate vectors that contain a list of the finite constraints. 
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iumin=find(umin ~= -inf); 

iumax=find(umax ~=  inf); 

iymin=find(ymin ~= -inf); 

iymax=find(ymax ~=  inf); 

 

% Delete the infinite values.  At the same time, form the coefficient 

% matrix for the inequality constraints.  Do this by picking out only 

% the equations actually needed according to the lists established above. 

% Finally, calculate the constant part of the RHS of the inequality 

% constraints for these equations. 

 

A=eye(mnu);        % These are the equations that are always present. 

rhscon=2*dumax;    % They are the bounds on delta u.  A is the coefficient 

                   % matrix and rhscon is the constant part of the RHS. 

 

if ~ isempty(iumin)    % Add equations for lower bound on u 

   umin=umin(iumin); 

   A=[A;-Sdel(iumin,:)]; 

   rhscon=[rhscon;-Sdel(iumin,:)*dumax-umin]; 

else 

   umin=[]; 

end 

if ~ isempty(iumax)    % Add equations for upper bound on u 

   umax=umax(iumax); 

   A=[A;Sdel(iumax,:)]; 

   rhscon=[rhscon;Sdel(iumax,:)*dumax+umax]; 

else 

   umax=[]; 

end 

if ~ isempty(iymin)    % Add equations for lower bound on y 
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   ymin=ymin(iymin); 

   A=[A;-Su(iymin,:)]; 

   rhscon=[rhscon;-Su(iymin,:)*dumax-ymin]; 

else 

   ymin=[]; 

end 

if ~ isempty(iymax)    % Add equations for upper bound on y 

   ymax=ymax(iymax); 

   A=[A;Su(iymax,:)]; 

   rhscon=[rhscon;Su(iymax,:)*dumax+ymax]; 

else 

   ymax=[]; 

end 

 

[nc,dumdum]=size(A);   % Save total number of inequality constraints. 

 

% +++ Define the matrices needed for the QP +++ 

 

SuTQ=Su'*diag(Q); 

B=SuTQ*Su+diag(R); 

clear Su 

a=B'*dumax;   % This is a constant term that adds to the initial basis 

              % in each QP. 

B=B\eye(mnu); 

TAB=[-B   B*A' ;A*B   -A*B*A']; 

clear A B 

 

%%  ++++ Control  SECTION ++++ 

 

% Initialization of states, etc. {Lonk} 

samp = T;                   % samp = blocks 
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sp = setpts; 

final = 1000; 

delay = 5;  

st = 1;                     %sampling time (sec/time) 

sl = ceil(final/st);        %sampling amuount (time) 

ct = T;                    %controlling time (sec/time) 

cl = ceil(final/ct);        %controlling amuount (time) 

c= [16.51 -28.61 

    19.38 -23.01 

    20.3  -18.25 

    23.29 2.734]; 

 

i = zeros(1,1);             %counter variable 

j = zeros(1,1);             %counter variabled = 0; 

l = 1;                      %counter variable 

m = 1;                      %counter variable 

psp = zeros(0,1); 

p = [];                     %actual tank height matrix 

q = []; 

r = []; 

s = []; 

t = []; 

 

%% Store variables at t=0 

for l=1:5 

    temp = getsample(ai); 

    height(l,1) = c(1,1)*temp(1)+c(1,2); 

    height(l,2) = c(2,1)*temp(2)+c(2,2); 

    height(l,3) = c(3,1)*temp(3)+c(3,2); 

    height(l,4) = c(4,1)*temp(4)+c(4,2); 

end 
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temp=height(4,:) 

height=median(height) 

 

MV = [0.5;0.5]; 

u = [MV(1) MV(2)]*100; 

 

psp(1,1)=sp(1)*100; 

p(1,:)=height; 

q(1,:)=u; 

r(1,:)=u; 

s(1,:)=u; 

t(1)=0 ; 

 

xi = zeros(ni+nyi,1); 

IKC=eye(ni+nyi)-Kest*C; 

%% 

%Control 

for i=1:final 

    i 

    %#Measure Tank height 

    for l=1:5 

        temp = getsample(ai); 

        height(l,1) = c(1,1)*temp(1)+c(1,2); 

        height(l,2) = c(2,1)*temp(2)+c(2,2); 

        height(l,3) = c(3,1)*temp(3)+c(3,2); 

        height(l,4) = c(4,1)*temp(4)+c(4,2); 

    end 

    temp=height(5,:) 

    height=median(height) 

    for m=1:4 

        if abs(p(i,m)-height(1,m))>1 
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            for l=1:5 

                temp = getsample(ai); 

                height(l,m) = c(m,1)*temp(m)+c(m,2); 

            end 

            height(1,m)=median(height(:,m)) 

            height=height(1,:); 

        end 

    end 

    p(i+1,:)=height;                    %Store CV 

    %#Measure Tank height {end} 

    psp(i+1,1)=sp(1)*100; 

    %# Calculated MV 

    if rem(i-1,ct)<0.02 

        y=height/100;                   %Don't edit 

        yp = [y(1); y(3)];              %Don't edit 

        yptrue = yp; 

        ypnew = yptrue;                 % current measured plant outputs 

        setpt = setpts(min(i,nset),:)'; % current setpoints 

        % Calculate starting basis vector for the QP 

        xi=IKC*xi+Kest*ypnew;  % measurement update for state estimator. 

        y0=Sx*xi; 

        if nvi > 0 

            y0=y0 + Sv0*deltav; 

        end 

        rhsa=a+SuTQ*(eyep*setpt-y0); 

 

        % Update the RHS of the inequality constraints 

 

        rhsc=zeros(mnu,1); 

        del=Sdel(:,1:nui)*MV;           % vector of previous value of manip. vars. 
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        if ~ isempty(iumin)    % Equations for lower bound on u 

            rhsc=[rhsc;del(iumin,:)]; 

        end 

        if ~ isempty(iumax)    % Equations for upper bound on u 

            rhsc=[rhsc;-del(iumax,:)]; 

        end 

        if ~ isempty(iymin)    % Equations for lower bound on y 

            rhsc=[rhsc;y0(iymin,:)]; 

        end 

        if ~ isempty(iymax)    % Equations for upper bound on y 

            rhsc=[rhsc;-y0(iymax,:)]; 

        end 

 

        rhsc=rhsc+rhscon;      % Add on the constant part computed earlier. 

 

        % Set up and solve the QP; 

 

        basisi=[    -TAB(1:mnu,1:mnu)*rhsa 

            rhsc-TAB(mnu+1:mnu+nc,1:mnu)*rhsa]; 

        ibi=-[1:mnu+nc]'; 

        ili=-ibi; 

        basis,ib,il,iter]=dantzgmp(TAB,basisi,ibi,ili); 

        if iter < 0 

            disp('Infeasible QP.  Check constraints.'); 

            disp(['Step = ',int2str(i)])                 

            disp('Simulation terminating prematurely!')                

        break 

        end 

        deltau=[]; 

        for j=1:nui 

            if il(j) <= 0 
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                deltau(j,1)=-dumax(j,1); 

            else 

                deltau(j,1)=basis(il(j))-dumax(j,1); 

            end 

        end 

        MV = deltau + MV; 

    

    

       

        % State updates 

        ui=deltau; 

        xi=PHI*xi+GAM*ui; 

         

        u = MV'*100; 

        for m=1:2 

            if (u(m)>100) 

                u(m)=100; 

            elseif (u(m)<0) 

                u(m)=0; 

            end 

        end 

        %MVss = 4*u + 1; %volt 

        %putsample(ao,MVss) 

        q(i+1,:)=u(1,:);                %Store calculated MV 

    else q(i+1,:)=q(i,:);               %Store calculated MV 

    end 

    %# Calculated MV {end} 

    if rem(i-1,ct)<0.02 

        r(i+1,:)=u;                     %Log actioned MV 

    else r(i+1,:)=r(i,:);             %Log actioned MV 

    end 
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    d = i-delay;                        %Cal Delayed time 

    if (d<0) 

        d=0; 

    else ; 

    end 

    u=r(d+1,:);                                     %Get MV 

    s(i+1,:)=r(d+1,:);                              %Log actual actioned MV 

    if rem(d-1,ct)<0.02 

        MVss=(u*4/100)+1 

        putsample(ao,MVss);                           %Actioned MV 

    else 

    end 

     

    for l=1:2 

        if height(Tank(l))>77 

            MVss=[3 3]                  %Prevent overflow 

            MVss(Valve(l))=1              %Prevent overflow 

            putsample(ao,MVss);           %Prevent overflow 

            pause(100);                %Prevent overflow 

        end 

    end 

     

    t(i+1,1)=i; 

    subplot(2,1,1); 

    plot(t,p,t,psp) 

    legend('Tank1','Tank2','Tank3','Tank4','sp',-1) 

    title('This is the graph plot between tank height against time') 

    xlabel('Time') 

    ylabel('Tank height') 

    subplot(2,1,2); 

    plot(t,q) 
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    legend('MV1','MV2',-1) 

    title('This is the graph plot between %opening valve against time') 

    xlabel('Time') 

    ylabel('%Opening valve') 

    pause(1); 

end 

 

save MPC_1&3 

MVss=[3 3]; 

putsample(ao,MVss); 
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